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Nole: - You have four choices for each objactive type question as A, B, C and D. The choice which you think is cotrect; fill thal circle in front of that
quest'on number i your answer book. Use marker or pen lo fill the circles. Cutting or filling up two or more circles will resull no mark.

SECTION-A Ji.»

q i = = SRy o e
Q-i Questions /=ti» A 8 c I D o
L s !’ l-sin’ 0 i Hrm’f) l+cos’0 « 1—tan’0
v i s i 4 4 .—i 3 ¥ 4 ¥
3 ol Putdminl | gt P £2mn’ p’ 2mn’p" | dm'n'p”
The mean pruportlonal of 4m? n* and ptis: R g nilen 5 5
" | T N , . o
3. My x—then: W } oc—1;r == Pom— )i =x Y=k
X ¥ 3 X ;
3 L9 7 -.-.c..u...'u fmlrL-'J-.e: ] 1 2 3 4 |
_ The number of methods to solve a quadratic equation is: i -
g - J?{F.._.-l:'ll.p.:!diélf' 0 1 -1 3
, Sum of the cube roots of unity is: VIR T
5 e 3 M H e +16=0 1 8 16 0
_ . The discriminant of v + 8x +16 -Ois: | o S
LCoutnnued / PTO) ’f;. ) (_A'IJ.J_-_,-'.;J
A\ by
\'g:\‘:ll‘ll o
R
A
Oy L=
¢ \{\-}’?/’
y ’{’-‘._‘:l\:""’m
Questions /.= i h\“'#\;l‘l - A B c D
|
| -&--—"L‘?\{}T*I—Q 0
| 7. {-[1} {11'21 {[1-1} [-]n'z}
The solution set of X' =x=2 = 0\}52‘
" _uELﬂJLfJU)/LﬁLr_JIJ it dg Lﬁl?ﬁ; S
" | Tovpents driwn at the end polts of the diameter of | pe pendicular | Intersecting | Non-parallel | Parallel
_q.r,ra.n.;d:f;ﬂ;..ﬁif_ﬂ: " % i s
9. | The semi circumference and the diameter of a circle 90 180 270 360
both subtend a central angle of:
” ot flemrintd] luﬁ.r_.}m}...l';l ..-_i.,:rl.-" Az /frﬂ I‘fm.-__ﬁ d.)l'.;.z':d{ J(
| Radii of a circle are All equal All unequal Doduigin?ieoti;gt Haggfrgny
i ...c_i':r.-.....ﬂ_.juguy...g Py Ny L0 .;Lli’gf Wl .;.ﬁd"‘
‘| Atangent line intersects the circle at Single point Two points | Three points | No point at all
; ...E:..Jlk( T = f.uLJ:......-'ul.'.Jh‘Jr .Irjldu Sl L,;!_Effi ok
12.1 The most frequent occurring observation in a data Arithmetic Harmonic
set is called: mean Median mean Mode
. cedi (43R x46049 | bl =l =L =g
| (x#3)= x46x49 I Linear equation|  Equation identity | In-equation
-a.f._l'}fu:dz ""5, —?) A3 Vv
14-1 point (-5, —7) lies in the quadrant: l i ml £
i et SURI L Sped or i . 3 5
'| The different number of ways to describe a set are:
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Notet- Section B is compulsory. Attempt any THREE (3) questions from Section C bul question No.9 is compulsory.
(SECTION-B_¢».»)

2,

|9

iii.

iv.

i,

Vil

wiii.

Vi,

vil.

wviii.

wi.

vii.

vili.

Write short answars to any SIX paris.

Define exponenlial equalion,
Salve by factorization y*+2y - 89 = 0

Solve [2.\'—-1}. = ?.
» 2 4

Find the sum and product of roots of (/+m)x*+(m+n)y+n=/=0

-

Prove that:x* + y' = (x+y) (x + ay) (x+@'y)

Use synthetic division to find quotient and remainder, when:
(4x™ 5x+15) + (x+3)

Define joint varlation.

(6x2=12)

Nz P LanigedS
P N P
P2y - 99 =026 4k

(2::-5} == &) .

Ui-rn}x’s‘(m'fn1r+n-!=0.é-‘tr-;"’.,f,il,)’bm:lnfnimv .

L4y =

(4= 5x+15) + (e 3pr et Qe P SV LS WP b3

B et

1 N N 1
i A o — and A=2, when r =3. Find the constant of variation & LA kLA =D A= ”‘Ax?"ﬂ

Prove that sin @(tan & + cot @) = sec @ .
Find @ when radius = 3.5 cmand /=2cm

Define radian.

Define right angle.

Differentiale between the chord and the diamaler of a circle.

What is meant by perimeter?

The length of the side of a regular pentagon Is Scm find the perimeter.

Define cyclic quadrilateral.

7
Find x,if 60m:90m: :20kg:x kg 60m : 90m : : 20kg : xkg fl_é{}"’x A
Write short answers to-any SIX parts. (6x2=12) ) \e:}a L pehz P Lazigedd
What is a proper fraction? ! ﬁ::-\f}’; . te-0nl b

If B = 4 + o thenfndvalueoanMB ;.(;;?”JJBJAH Ja=2 = 4 + g
(x-4)(x-3) x-4 x-3 N (x-4)x-3) x-4 x-3
Define intersection of two sets. (,\J’%\“\\’w, -'é -!,; ddﬁﬂ:w’? n
If A={135.7), B={12.34,5} then find A B *«1 ), o o anB T #B=(12345) « A=01357) /i
Findaandbif(3-2a, b-1=(a —?.( gbfs) (3-2a,b-1=(a-7,2b+5) :Jﬁé:ér?’b.um
If L={ab,c} then find two binary relathms ofLxL. -f.ér}" st £ LxLd xL:{a,b,c}f?
Write down two properties of arithmetic mean. .é.:}' .:.«Lﬂf’ udmu}v
Find the geometric mean of the observations 2, 4, 8. 2,4,8 : ér?’ pally th:»iy

- Find mode:4,4.5,5,6 6 6,7.7.57.5,8,8,8,6,56.57 4,455686,7,7.57.588,86,56.5,7 ol
Write short answers 10 any SIX parts. (6x2=12) .égf ;.-.'I-Iz/"" LJ!'(L{};
Convert 3?11'_ into degree. ANV -3-4{:-

sin #(tan @ +cot @) = secd o :
Al ArBSLLE PO
EafSul .
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(SECTION-C /r.»)
(4+4=0) _d/)f.‘:.dlrﬁ.q..dm(ﬂ}/dlrup. £ iz lctiref < Of

Attempt any THREE questions but question No.8 Is compulsory. Each question carries EIGHT marks. (4+4=8)

i i +2 4-x I
a)  Solve by using quadralic formula: R s 31 2 —?— - 3 EEJc-uU"if-!r.EJ,m (a).5
-1 2 3 x= <X

b)  Find the value of k. if sum of squares of the roots of the equation 5
ok Snpipsamisiin = L adbor sl Ltk Pede-8=0 bl i e A8 k()

a)  Solve by using theorem of componendo - dividendo :&J;_,,-z_,fdu:ﬂ;,,i,_};“’,.’_g;y (a)-6

s i, . AT 12 (_x_—______:j' "(-'!-4I:=E

=2y +(x - 13 (x-2) +(x=4) 13

I (ON
i i MOy o 2\ +——————-' o4
b)  Resolve into partial fraction: P = J\\ (e +1) dytfu'l/w (b)
\
(a)  1fU={123. .. ...20}, X={1.3.7.9,1518.20}, Y=(1,35.......17) 7 Y.p.agm\,ﬂ?)- X=(1.3.7,9,151820}U={123,....... 20/1 (a).7
’ \
then show that X MY =X-Y ]' \r"1 2 X nY =X-Y J’é...:h‘
L=
(b) Find standard deviation: 12,6,7,3.15,10,18,5 NS 12,6.7,3.15,10,18,5 : £ P 1 /1S ()
r"‘r \\'a /

-

a) sing- T andcos @ = 4;_' then find the values. oﬂluﬁ}?.outﬂ sect and cosec

.‘p\j‘“
< ) 3
égg‘r?':jd cosec § i secB,colf,tand ix cosf=—= s sin0= J’ (a).8

w

b)  Inscribe a circle in a AABC with sides |AB|=6¢cm, [BC|=3cm, [CAl=4cm.

nan 3 e A CA il BC AB LML U S Lk VAABC  (b)
a Prove that perpendicular from the centre of a circle an a chord bisects it. -q—t-f.x‘:é’h:f.gﬁmf’:.f/.ﬁ..}bféa? .9
OR ¥

P that th site angles of any quadrilateral Vi - I
inrs?;?be; in : c??c?: :;re sugpﬁemsm:r?. ALl o8 P i b L TR0 b i & ot
111-224-1A-34000
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Note: -You have four choices for each objuclive typa question as A, B, C snd D. The choice which you think is cormect, fill that circle in front of that question
number in your answer book Use markar or pen to fill the circlos. Cutting or iling up twa of mora circles will resull no mark.
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_SECTION-A Jus

Q1! Questions /.= 1y =N A B c D
; ! . . - - - o e el 8 e ks - e ——— e e - —
1 hihidat ot B 0,3 0
_ Solution set of A - :"-1_:-{} is: {03} i ) ¢
2 -2 S ax’ =0, || av =hvte <0, | av vbheve-0, | ax vhxae=0,
. Standard form of quadratic equation is: { a=d 4= b booa- a#0
-'-n.r"-'..-'-u-i AL gx 4 r = 0 .;.ld...-,ﬂ Wr ,—'_ T ; T F - - T
3 wAv2fa2al g ! M ! =2 %
If «x, /Yare the roots of pagysr=0 p ! p J2 P
__then sum of roots 2« and 2 f3is:
K e 4‘,“»Eg5||.;3;&5: : 1 0 l 3
.._Product of cube root of unity is: _ )
5. Lty Sl x5 18 f
'_FLnfi vinproportiond4 :x::5: 15 4 N 12 _ o
- - —— ' -
Fl-le':_k_."; !
6. o ; ' ' . ;
0 gr e A | v=wk ' vowk o i vk i 1wk
if - =—=k then: A0 ,‘
O i - | B \”U / :
(Continued / PTO) | /;ff)' i T A )
~N G =l g
O ‘\“i‘\\:l\ I"..I B » .
S22
(DY
(\'J‘\_/f
L N
_ K714
Questions /= itr AT B c D
7 ! e ,___,__,.___fl (-1.’4-3]2: f+ﬁ.}f\t¥u j:f ’.:.fi." alsi-'(.;.u-.-_f L?a-"r ..:J:Lr'/,—,'.
(x+3)%= x'+6x 49 is: 200 | Anidentity | Alinear equation Polynomial Inequality
e brdiB-A ;ﬂ':%EIA, A
8. : B A (#) ¢
If BC Athen B- A=
o | -«Onange RixRUARABIMAMY 155 (1234) 13.4) (1.2.3)
[fR={(1,3),(2,2),(3,1),(4,4)} then the range of R s:
10 ; ,ﬁgfd}édyégfdﬂfljj = A wb = bl
* The extent of variation between two extreme
bservations of a data set is measured by: Variance Mode Range Average
] . I 1
11. Scosec-ﬁ = A = & 25
" ekl A EL LB L i b » 7 Jv
. 'ﬂzigaitaer}:i;fl:;v point of the circle to Radius Diameter Chord Tangent
13 .a.j.-bfu’----f:..}bdh'ﬁ_ﬁ 4ﬁ_fl Lhlin .r.}ﬁcf .r..lﬂ-;;k
A tangent line touches the circle at: Single point Two points Three points Four points
e br ST ¥ 5 L N A ST T ] A )
i An arc subtends a central angle of 40°, then the 60 34 4% 30
corresponding chord will subtend a central angle of;
i sy v e F Lo i : " '
‘| How many tangents can be drawn from a 4
point outside a circle?

) o2 Lo

112-224-1A-24000 *



Marks: 60 Time: 2:10 Hours Subjective Paper (i) .0 240 :Js 804 |1/ | (VIS
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Note:- Section B is compulsory. Attempt any THREE (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /1».»)

2. Write short answers to any SIX parts. (6x2=12) E i ALz 2
i. Deline reciprocal equation. _éf..!ﬁé.:.blﬂf #
ii. Solve by factorization: 5v°=15x 5x°=15x éd" A Aok i
iii. Convert 3x*-Bx=x+20 Into two linear equations. _i d-'-dd (5.:&.1!/& sk nfad-6x=x+20 i
iv. Write m; quadratic equation whose roots ara ~1and 7. -, "71.1} ui—l.f" 2 =hlad am{ﬁl t\r
v. Find the discriminant of 9¥*~30x+25=0 9x*-30x+25=0 iéf Pl v
vi. Prowethal - = () (e-my) (-0) £ = () (ray) (o) E it i
vii. Find fourth proportional to 5, 8, 15. 5,8,15 éry,fw.i il
vill, If wee %when w=>5 and Z =7 then find . AZ=Taw=5 swec 1 4 & o 4§ k i
ix. If 3(4x-5y)=2x-Ty then find the ratio x:y. & e xy e T Hax-5))=2x-Ty A1 ix
3. Write short answers o any SIX parts. (6x2=12) -é{j..-.,w V4 L;Irl.{c-df -3
i. Define fraction. : . EopSS
i ¥ = j;iii 3 = :cfﬂi + .th} ,then find the values of A and B. .érﬁ";i)(tjq‘f\ﬁigh o j’:;(fi 3 = xil + :.E?' i
iii. Convertimproper fraction into proper fraction: (::;}2{21—;) Oﬂx\ga‘ﬁ“/ u{;z)zii-z;_} ,,!f'-bt,,;gﬁ WY g T i
iv. Define Into function. ( It:/] ,é..! _,-FM Gl v
v. |f Y={-212}, then make two binary relations for Y x Y(,\%\“\\’ ,.g Htul}[?.mﬁ YxYin Y={"2.1.2}.f' v
vi. I£X=(246,...20), Y=(48,12....24) then find Y-X ,\j}/ L PN-XT A= (4B12....24) X=(246....20/1 vi
vii. Define frequency distribution, 43_,? 7 -é..zﬁdr_o? rad il
viil. Find the modal size of shoe for the folldwing data: el b ar Nl gt ara§uT rirdizu il
4,45586.86,6,7757,58,.8,86,586,5,7 _ 4,4,65,6,6,6,7,7,5,75,8,8,86,56,57
ix. Find harmonic mean for the given data:| X |12( 5 | 8| 4 X (12|58 (4| Lo ralilpd Lordes .ix
4. Write short answers to any SIX parts. (6x2=12) E Mg A Langedi 4
i Convert 5?‘7 to degree: .&fg,.tfuﬁd)'! f %’E K
ii. Find r when /=4cm, @ .% radians. l=4cm, @ =::_radlan5- :.;:é,-}"r Ji
i Verify the identities: c:;:; +sinf = cosecd sh: ; +sin0 = cosecO:FEad AV i

o S u I v
EyfS b v
£ 8een i
Ey S it
viii. Define polygon. F 8w ¥ i

ix. The length of the side of a regular pentagon is 3cm. What is its perimeter? e L O 36FJG.L‘/ T

(Tum Over  &id»)
) L

iv. Define coterminal angle.
v. Define right angle.
vi. Define secanl.

vii. Define cyclic quadrilateral.



5.(a)

ib)

6 (a)

(p)

7.(a)

(b)

g (a)

(b)

(2)
(SECTION-C /r.»)
'_g Y L-'_l"_‘g'{/ (444-0) o ,r’)ré.dlrﬂ.q.d:urs)/drmf.z{'; e atired e 3f

Attempt any THREE questions. But queslion No.9 is compulsory. Each quostion carries EIGHT marks.. (4+4=8)
2¢'-11x745:0 dgd' (a).5

Saoive: 21 1174820

Pravethal v« v +7 =3Iz (x e v+ 2) (v oy i 'z) (x+ @' )y @)

- . s el Pay A - ¢ 3 r
it~ L _ L then show that: Lresr M AS Sdawinl -t -t S ()
bod o b wd'+ [ hdf Q‘ 2 b d f
— (O)" | O T
C - g - 1 e = T -
Rosolve oo =? I_":-inm partial fraction. ,-«,g:bfx\c’ -’-‘-’J;JUJ T E;,-T;— (b)
Rl :-?'\5\\ B '
1 U={t2.3.4...10), A={13.5,7.9). B={14.7,10} then verify ;.11@41/—— ANB
f\i‘ '
A= B\)m? & =k TB=(1, 4,7.10)-A=(1,3.5,7.9),U=(1.2.34....10)./1 (a).7
The marks of six students in Mathematics are H}:w ] W -
@3’ 8bil s s atnl SULSLL,
Delermlne the standard deviation. (Q\LM él’ ’w"'""’ Gt Al 1P/ LSS L Lo, ()
M i S :
. Student (#7°4) 1 < -‘.\v? 3 4 5 6 :
Marks(. 1 60 70 30 90 80 i 42
-1 .
I'sind = = and terminal side of the angle is not in gquadrant lll. Find the values of tan 8, sec &,cosec ().
V2
o dd cosecl  sect dan@ § ko LB v JTHKO <t asind = =1 S )8
V2
Orazw two common tangents lo two touching circles of e
radi 2.5 cm and 3.5 cm. —‘rﬂ"ut’J;"”‘{-tﬂfd’:i Slr2. 5. L hivenl s e (B)
Frove thal perpendicular from the centre of a circle on a chord bisecls it. &b f -.A."'J.J'I oy :Jr e Ak ivd ,,_:_:_ s .9
OR L
Prove thal the measure of a central anglo of aminor arcof acircle is s Ay NG H sl ey A Tt ing s et
double thal of the angle sublended by the corresponding major arc. e bt ne i._.:___,,:”." AR & b gt

112-224-1A-24000



Mathematics (Sclence Group)

Paper : Il
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Sl 23

Group : 1
: 20 Minutes

Roli No.

$SC (10™)1* Annual 2023

Objective

&
(iii)

11

l (/. .1.!} Meal) N

(/U5 oty

bt - -fjf

: 15

Paper Code | 7

1[o]s]

In: 24

2 201 S

15 :

V.4

Note: ~You have four cholces for each objsctive type question as A B,
question number in your answar book. Use marker or pen 1o fill

SECTION-A il»

s At AN I Lorrerne Bt

2L L 8602 L 20D # C,B,A ez gLy g -9
K ..Lll.._..l.ﬂuf ISy S/ 4/ d.-KLLJr .f_,( UsHsnshiembi

C and D. The cholca which you think Is correct; fill that circle in front of that
the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=iy A B c D
g b b flesr QL € X" Fald o < . v
1. | Sum ofthe deviations of the variable "X " from Zero One Same Different
its mean is always:
db&bé.ug:tfdf S 2t sl S 7 S 2 &P
2. AT
The arcs opposite to incongruent central
angles of a circle are always: Congruent Perpendicular Incongruent Parallel
3. bl P re i 90° 180° 270° 360°
A complete circle is divided into:
;Uf!i Q{JJ b’.’i#::éﬂ&; ﬁi-s..}l:_fl o 40 E;- b b {f
4. 0P — o)V
Two tangents drawn to a circle from a point A\ e
outside It are of in length: Half " S Q:;\ \ “Equal Double Triple
5. | sec?d= 1<sifl8” | 1+cos’d l+tan’@ | 1-tan’d
n' o [~
il T O
supdbrveBale |0
6. | How many tangents can be drawn from a point, \ [ 1 - 3 4
outside the clrcle? R %
-(f'-—.il‘l;éu.l))b': ax® +bx+c=0 46‘6?@4?&4:::
7. | The number of terms in a standard quadratic J B 3 4
equation ax” +bx+c =0 Is:
8. ‘d-h.""gl"’ré"'i —l —o, ~o* -, o -0 -1, -o, 0 1, —w,—a’
Cube roots of -1 are:
9. ..r.;-,u_‘{V..p‘aI;J;L—{} ) 3 | 1 0
Sum of the cube roots of unity is:
10. -4_w/au: a:bey Cj'ﬁ ‘LLH ,Jg{jf» - -
Intheratio a@: b, aiscalled: Relation Antecedent Consequent Proportion |
11. W FERSE XY VW xy w v X
The fourth proportional w of x:yuviwis v x w
2x+1
i) ———
12. (x+1D(x-1) Al =l A =Hl
2x+1 Is: An improper fraction|  An equation Aproperfraction | Anidentity
(x+1)(x—-1)
13, -Q?ﬂfﬁﬁbdﬁd}b“-{ﬂéﬂ‘ d-!dl-i MG; n-*-'fi L
A set with no element is called: Empty set Sub set Singleton set Super set
14. &b ot orat ¢ a {a
Power set of an empty setis: { ] [é [ }} {ﬁ}
15. _4.|:'Jﬁul?i.:-i.-f ¥ .HJL}L’ £ (_?' g slg ,g.." 1l ]
Mean is affected by change in Place Scale Rate value
111-223-1A-41000 * % &
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RoliNo.[ | [ | | | | /%7

Mathematics(ScienceGroup) SSC (10th)1st Annual 2023 (.f:f L) e\
Time  : 2:10 Hours Group : T Paper () 24 g 2 g/ Er10:
Marks : 60 Subjective (1 L)) -/-23 60: A

- 94 dlr‘wg oz Lyt < 3. .;.u.‘!f’ r 2 S0 00
Note:~ Section B is compulsory. Aitempt any three (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /)

2.  Write short answers to any six parts. (6x2=12) ..é.{}’ =l f"y LJZL{LGI 22
i. Write the names of two methods for solving a quadratic equation. Z Pl YR Il LSS FeblaBnn
ii. Solve by factorization. 4-32x=17x" .éJsf.gup i
iii. Solve the equation by using quadratic formula. 3 +8x+2=0 .xfd’ FIL Yy G msFeils il
iv. Find the discriminant. 9x ~30x+25=0 E TG
v. Evaluate. é}“ +a” +1 -éér'.o"".;-‘f Y
vi. Write the quadratic equation having roots: 2,-6 _é’ bl » L!mj :;iq.; i
vii. Define proportion. ‘ -éé...gﬁ St il
vill. Find x,if 6:x:3:5 et xT6:x:3:5 M i
ix. Find a mean proportional between: 20x°y?, 5x’y :;. : cérj‘" sy ix
3. Write short answers to any six parts. (6x2=12) . \t , ) _égj’ =z F L,Izlgr_é!’ 3
i. Define proper fraction. o \:}?J:“ \ < Ey S S s
ii. Convertinto proper fraction. %&?%ﬁ .éd:;u: / w2l i
lii. Define intersection of two sets. (:; "j/{ﬁ s _é_gﬁijdﬁf.u}."u il
iv. If U={12,3,..,10}, B={3,5,8} then ﬂ:;p .ﬁ;;' O\ i B={358} ,U={1,2,3,.,10}/1 v
v. If¥=2"and T=0" then find Yﬂ!l“ EeFYAT] T=0"w¥=2"/1 v
vi. Find aand b, if ' élf‘ (2a+5,3)=(7,6-4) /raérf"bula R
vii. Define a median. ..édjﬁ.flh i
viii. Find the geometric mean of 2,4,8 using basic formula: -éé,»-}” boal(s .._jlg 248 awdﬂhl&‘by& il
. Find median of the data. 82,93,86,92,79 e sy ix
4. Write short answers to any six parts. (6x2=12) £, 4 Ldﬂ.{ét}f -4
I. Convert I13—6:ur|'15,cllaan to degree. ééd.'.y(.ﬁtjfifu—ﬂ eLds
it. Find £ when r=4.9cm,6=180° 6=180°« r =4.9cm .I?rér}"‘f i
cot’ o
fil. Show that. p——— SEep i
iv. Define degree measure of an angle. -é..g ¥ S 56,1[: v
v. Define obtuse angle. £y Al uig p* v
vi. Define length of a tangent. Jé..yﬁddpﬁu (VY
vii. Define chord of a circle. _éhg A8 il
viii. Draw a circle of radius 5 cm passing through points 2 s7bK/1 265 b e B sl A 35 Lis b8l 26 il
A and B, 6 cm apart.
ix. Define inscribed circle. EFm® ix

¢ .7/""/ Lo (Tum Over &1
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5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

9.(a)

(b)

@)

Swl1-23 (SECTION-C /r.2)
(4+4=8)  _<-$0(9) Airf AL p s bz Letivel « OF

Attempt any THREE questions. Each question carries Eight marks. But question No.9 is compulsory.

(4+4=3)

Solve: 3x24+5=8x"" EJ
ér}”u—f@ -—+—Ju:r(Roots) uj.uL x*+px+q=0=bl S ali

o
If ¢, are the roots of the equation x+ px+q= (, then evaluate E+£ .
o

Y2 fid oAl “2}’ 422, 5 (PSSP

M X
}f+ z y x—2z
Using theorem of componendo-dividendo find the value of L 2'P x_\%{r - R
x—2y BNeg< Y+iE

_éfuzikfﬁjf

Resolve into partial fractions.

A-B= Ans'é_‘u{}{mnu},m (1,3,5,7,9} U ={1,2,3,4,...10} /1

IfU={l,2,3,4,...,10} 1 3,5,7 9}&9.:1{1 B {1,4,7,10} then verify A—B=ANB
y fﬁ\\,;

Calculate variance for the data 9, ~ 10,8.9,7,5,12,8,6,8,2 -ér}"‘.:c,é"c.slrém

-zér}”dzd cosect i secl. tanl Ju B A S 6 inl sind = :J% /
; -1
If sin & =T’£ and terminal side of the angle is net in quadrant i1}, find the values of tan@,secfand cosecd.

Circumscribe a circle about an equilateral triangle -nf‘:t&glgjdjﬁi-m.ﬁé-h-ﬂvw ABC _J'c,w:gsv
ABC with each side of length 4cm.

Prove that if two chords of a circle are congruent -Lu:r.lﬂlilldsb'a.ffu;u;rgf{i"h :;Lx_.ﬂ:ﬂfémb

then they will be equidistant from the centre.
OR L

Prove that the opposite angles of any quadrilateral SLLn }f&' s.J,.;LJ.l:B'J'.-'_’.J :’:Lisfhdn-fbuf Ji zé.-.d:

inscribed in a circle are supplementary.

(a)-5

(b)

(a)_6

(b)

(a).7

(b)

(a).8

(b)

(a)-9

(b)

111-223-1A-41000
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Mathematics (Science Group) SSC (10th)1st Annual 2023 (g0 U5L) (guialiy
Paper : Il Group : Il Objective (s Lntgs) : 24
Time : 20 Minutes (iii) L* 20 =
_Marks _: 15 PaperCode |7 | 1|9 6 15: A

B A B AN L e ne LM E brs e & p Q02 B L 2D 11 CBA 127 AlJirg =i
K 2l I Lz S, LS eMd S usimie L

Note: ~You have four cholces for each objective type question as A, B, C and D. The cholce which you think Is correct; fill that circle In front of that
question number In your answer book. Use marker or pen to fill tha circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Ui.»

Q.1 Questions /=11 A B c D
o b SHUSRE BN Y o FPi o 4 & o
A frequency polygon Is a many sided: Closed figure Rectangle Square Triangle
2. | cosec’@-cot’@ = . -1 0 tand 1
3. RSV ST Y
The symbol for a triangle Is denoted by: £ 4 - n
B U S 3B L e L S . . .. | secant¥eib
4. | A line which has two points In common with a Moe ... aciRe K2 SNGUE K- 26 secantofa
circle Is called: sineofacircle | cosineofacircle | tangentofa circle clrcle
¥+l , .
; e | | Al v |
i X +1 . AP
m'ﬁ- ke nnlmpmpm‘racuo Anldentity | AConstantterm
. a0l aBestidsal it L Gf \ J’ T 3
* | The measure of the extermal angle of a regular \f_,"] - = gl
hexagon ls: “?” L~ 4 6 3
a-flc;-f’d 3 +3" 46 =00l H,ufu bl =l P bl o
T | An equation of the type 3" +3*"+6= 0 I, E‘monenﬂa! Radical Reclprocal Quadratic
a/an; AN N “equation equation equation equation
8. dézmﬁ“ 1, @ 1,-1 L, -@ @, o
Two square roofs of unityare: .
2a}uﬂu’u£.px’ +gx+r iy, S B.e /i
a 2P0 -4 r 2 -4
If @,/ are the roots of px* +gx+r=0, then P P P 2p
sum of the roots 2 and 24 Is:
in L kN
10. - Ll u=wk’ u=vk* u=wk u=vk
If —=—=k then:
vV W
11, Bl Sl s\ L 1,2, 3) P 8 8 g
The number of elements In power set { 1,2, 3} Is: !
- -4.':#f"'{.r|xEH’Ax510]}.&-r T, agl sl LS
The set {x |x € ¥ Ax <101} s called: Infinite set Sub set Null set Finite set
M i$F K737 ﬁ-fq_, 40° s Uil
13. | Anarc subtends a central angle of 40° then the 80" 60” 40 20°
corresponding ehord will subtend a central angle of:
,-q-HIfLJJ.yd:JLF:f i g (..:J(SM; ’ &ﬂv‘i‘i}'}ﬁ:ﬂ? f!.jlf:ﬁi;r‘f
14. i Cumulative
A table Is called: Desa ettt e iy ey
grouped frequency table Is called: distribution polygon distrd
15. by Fxiy et b prLd PS o1 wE
Inaratio x: y, y Iscalled: _ Relation Antecedent Consequent Proportion

ﬁ? 77 112-223-1A-34000 * * %
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Mathematics (Sclence Group) SSC (10*)1** Annual 2023 (/UL gty

Time : 2410 Hours Group : Il Papar.(ll) 24 I/u:.f:f E 2:10 : =8
Marks : 60 Subjective dei SML ~2~23 60 : A

24

vi.
vil.

viii.

vi,

vii.

viil.

vil,

viil.

638 O Az Lutrd e Satfrogliipoed
Note:- Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.

SECTION-B /».~»

Write short answers to any six parts. (6x2=12) -é{j’ =l Y4 L.i:!!j;g:.é!‘
; X x+1 é )

Write quadratic equation in standard form. P * S a RS S el 0
Solve the equation using quadratic formula. 4x* —14 =3x E S JPILr S snf il
Solve. x*+2x-2=0 -éd'

7 -
Evaluate. (9+40+407) Eoprad
Find the nature of the roots of the quadratic equation.  x* —23x+120=0 ,éf.!r}" (deuj 1l 9

(x3 +x° —3x+2)-:-(x—2} :.,zér)”@l,u!aﬂjwbé.ﬂi_fdlfplff?&’?
(Jc3 +x° -3x+2}—:-(x—2)

ér)”x'ycw-j? 3(4x-5y}=2x-—?yf

Use synthetic division to find the quotient and the remainder, when:

If 3(4x-5y)=2x~Ty,find the ratiox : y .

If Rec T?and R =8when T'=3,find Rwhen T =6 AT =6 LE e RIAT =3t R=8.i7 Rec T* /]
Find the third proportional to: 6,12 _*fu ) et
Write short answers to any six parts. (6x2=12) "'*'5-“::\'\ ﬁ\f_,/' ' & LAz Lz yi 7
Define improper fraction. f“\'\_) _éf..gf(f/gb,é‘
Convert the improper fraction into proper fraction. f:\f{g_‘y—&i _éd..;-'d: PRI e S
it X ={1,4,7,9} and ¥ ={2,4,5,9} then find rt:e\ﬁ;jm L Eyoxiar={24594X={1,479/ .
If X ={1,4,7,9}and ¥ ={2,4,5,9} than»ﬁ;mi»}fnx .a":{-}”r’nx Jn¥ ={2,4,5,9} 4 X ={1,4,7,9} fi

If X=¢ and T'=0" then find xﬁ% EXAT] T=0" s X=¢/i
i A=Nand B=W’, then find the-value'df 4% B . e A§A-BIB=W s A=N /I |
Find the range for the following weights of students. -é{)"’ .:ﬂdumr.-iur“ A

° 110,109,84,89,77,104,74,97,49,59,103,62
Define variance. , _2‘.3..3,-?6..-.;,,*7

Find the arithmetic mean by direct method for the following set of data. ,éri”y,-idvdﬁrds.zwc.é. J sl
12,14,17,20,24,29,35,45

Write short answers to any six parts. (6x2=12) ..é{}’ =z ,f_,l:ﬂ.g:..aj'
Convert into radian. 124° 22 .éédaf;ﬂuzé;
Prove that. sin’ @ =sin@—sin@cos” & ek
Write formula for finding area of a circular sector. Zirwd s Py 9
Find @ when{=2cm,r=3.5¢cm £=2cm: r=3.50m.¢!£§r?’9
Define obtuse angle. &y A8 aslie
Define tangent. -é..ay" L;u‘ v
Define sector of the circle. -.Eé..yj"(j}f.’ﬁé.ﬂ:
Define circle. _i._y ) A Gy

Define polygon. ' / / %K// Easlteny

(Turn Over i)

-2

i
il

il

il

vi
Mii

viii



5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

9. (a)

(b)

(2 . %
SECTION-C jr ¢4y ~2-20
(4+4=8) _+J:ﬂ(ﬁ/dsmg BANE Ny g s iz Lchived 2 3f

Attempt any three questions. Each question carries Eight marks. But question No.9 is compulsory. (4+4=8)

-

Solve the equation by completing square., 2 -3x-4=0 -éJ;:.d/gt‘éf;:abV (a).5

e Al g )

Find the cube roots of 8 .

#
gorcevea | acal” (ol (abedef#0) 2=£=5 Ji
bd'f-df‘*‘fb [bdf} - ( U0 U, af } y d f (a).6
%
a C e ac+cet+eqa ace |-
Z_Z_"(ab,cd,e,f+0) then show that =
If - f(a, ,c,d.e, f +#0) then show tha T [bdf}
. xX4+7x+11 P
Resolve into partial fractions. (x+2)2(x+3} <Qﬁ/‘* ,fq_}f;uf;r"d::z (b)

\.
oY \.1 \«

(4-B) = A UBSE=k] B={LE% },,:A {1,3,57,9) .U ={1,2,3,.,10} /1 (a).7

@)

>

QL ,
U ={1,2,3,..,10}, 4={1,3,5,7,9} and B ={LA:710} then prove that (4~ B) = A'UB
O 7
Calculate variance. ﬁ*\\;\igs 9,7,5,12,8,6,8,2 _&{f}”.zgf (b)
QY

\'“’J' é!‘rd—jlﬁfwayf&fﬂ;f duL.-_;’JJ H{.L;ﬁﬂy _&iﬂ)JﬁLCﬂSg =— ﬁ (a)_8

o | e S
S

If cos@ = - and terminal arm of the angle @ is in quadrant 11, find the values of remaining trigonometric functions.

U335 A CAWBC . AB LML 1L & tihiY AABC  (b)

Inscribe a circle in a triangle ABC with sides ‘AB| = Sem, JBCI =3em, [CAl =3cm

Prove that one and only one circle can pass through _q.if;.rf.f‘b(,&‘.ﬁ._vful_ﬁ:.,}[i'-‘(fjufféémi‘ (a).9
three non-collinear points.

OR L =
Prove that the opposite angles of any quadrilateral iS5 4w -4.;1;.1_-@"/&;?’;::5:]&(3;ﬁ:ojféa:b* (b)
inscribed in a circle are supplementary. B

112-223-1A-34000
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Mathematics (Science Group) ssc(1 0")-A-2022 (.*af u"’ ’La) ¥ ]
Paper : I Group :1 Objective '3 |  igigs/ o: g

Time : 20 Minutes @(/f e 20: &)
Marks : 15 Paper Code < 3 Sedt-Gra) 15: ,.J

s A LS Afwdwiqggumwbé@&wm&ﬂpqiqm MCB ALl g =t
Ko A2 2 2 LSS ML TG pitsilie i

Note: ~You have four cholces for each objective type question as A, B, C and D. The cholca which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (i)

Q.1 Questions /=fi» A B c D
JE_Y 3 A
L 5 Gt u=wk’ u=vk® u=wk u=vk
if £ =X =k then:
v W
?L‘iaxljf}J”jﬁ’fd{—-le-)(Lfﬁ
4 it B N A BiC | 4x+B C | A B
Partial fraction of —— = areofthe | x+1 x*+2 x+1 x*+2 x+1 X422 | x+1 x*+2
(x+1)(x* +2)
form:
3, gbarlralbor b A ;
Power set of an empty set is: ¢ {a} LGN {ﬁ a} e}
" 4bnds ANBinAcB /i v T
If Ac Bthen A B isequalto: 4 --'\ E’\—-" ¢ 4B
I TR ey 1 4 JOTL P X ¢-\ /J»:Jiuﬂfﬁ £ osb
5. | The most frequent occumring observation in a Mean 1 *_Harmonic mean Median Mode
data set s called: A
6. IO, P g 7 05 ol J,j_?\}\' A 1 o
The symbol for a triangle is denoted by: O
N\ ON
7. ap—T L “'{rﬁ =00 45° 60° 30°
If tan&=+/3 then @ isequalto: _ (;\\
4 bs m{i‘c@dﬂnf' beal S5 RS wk
8. | The spread or scatterness of observations in a Average Dispersion Central tendency Mode
data set Is called:
. bW B ST fe i Uk Ju 7 J
Aline intersecting a circle is called: Secant Tangent Chord Diameter
S p87335% 50 40° ST pHU I
‘é‘b‘“ o -] o o
10.
An arc subtends a central angle of 40° then the| - £ = &
comesponding chord will subtend a central
angle of:
11. -4-kn Ll e b L] SF:H' 73 . 7,
A circle has only one: Secant Chord Diameter Centre
oo EUAS o +bx+e =0 bl an
12. | The number of terms in a standard quadratic 1 2 3 4
equation @x® +bx+c =0 Is:
13, —4-#""&'&'&“’-3“ 0 1 -1 3
Sum of the cube roots of unity is:
2aTun Sl —x-1=0 svira, B /i
14, bt AL N20 -2 2 4 -4
if «,f are the roots of x> —x—~1=0 then
product of the roots 2a and 24 is:
AL " "B S abucid ok o oy g b1 A
15. inaproportion a:b::c:d, "b"and "c"are Means Extremes Fourth proportion | Third proportion
called:

109-222-A-45000 H* %
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S Roll No.

* Mathematics (Science Group) 8.5.C (10%)-A-2022 (oS AV
Time : 210 Hours Group : I Paper (ID 24 U-‘h,af 10 =
Marks . : 60 SUmm Gﬁ,’ QL—M 60 : /-'-‘

2. Write short answers to any six parts. - (ex2=12) .ég/aw:ﬁ’ Lizigedf 2
i. Write in standard form. xz; 4 --; il el
il. Solve. ril8=x EJ o
jii. Define Reciprocal Equation. ,é,_;_; A G.:b[f;)‘ :" il
iv. Find the discriminant of the given quadratic equation.  2x* +3x-1=0 -ér}"’ - le’a&lfﬁ;mé’ B v
v. Evaluate. &+ +1 -ér}"" o4 v
vi. Form a quadratic equation with roots 0 and -3. =310 uj S bl o i
vii. Find a,ifthe ratios a+3:7+a and 4:5are equal. é,ﬂ’”a;u:uud Sala+3:T+act Sl i
viil. Find a third proportional to: a-b*, a-b u é;-}".,«w A il
ix. Define Proportion. " \‘_ﬁ}‘ _éq: A gf.,.-«ﬁ' Jx
3. Wite short answers to any six parts. (axz-mbn\\; 1 EjlrFLinge s 3
i. Resolve into partial fractions. (\2 fj; )" -éd’-gu'-'u:/{juz N
/“J x
ii. Resolve into partial fractions. S\ (: m .éd’.f UmF Bz i
ji. If X=¢ and T=0" thenfind Xna': - -zér}"xﬁr in T=0"wX=¢/1 i
iv. If 4={0,2,4} then find Ax A\ e axaind={024 11
v. If X={a,b,c}thenfind XxX . A xxxinx={ab /i v
vi. Write De-Morgan's Laws. & LILINE
vii. What s a Histogram? '?(.22,'( Ly vii
viii. Define Mode. EsFEob i
ix. Find range of: 11500, 12400, 15000, 14500, 14800 _érd”.:,-v Jix
4. Write short answers to any six parts. (6x2=12) ,é.g/’ Wgz} L.ng.,ﬁf 4
i, Convert 315.18'to D"M'S" form, st DMS 31518
ii. Find » when £=56cm and 6=45° 0=45 it =56cm S r i
fii. Simplify the expression to a single trigonometric function. tanx. sinx. secx _,éﬁd'ﬁﬁyf_ﬁé_fﬁf& il
EyF8ud iv. Define Radian.
- ﬁf]jﬂf‘"v— ——y—Define Projectiom.— -
Eo 854 N vi. Define Collinear Points.
E 8686 i vii., Define Secant ofa Circle.
A0 L i viii. Define Circumference of a Circle.
JU il ix ix. Divide an arc of any length into two equal parts.

< ) dlrr,fp Bzl e 37 e Lfr o 12
Note:- Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.

(SECTION-B (».»)




5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

(SECTION-C /r.») | ‘
5‘, L% 4‘ /- )3_,(4+4=a) .4.45:!(9),{':,]1:'@?4! ALy f s L cbirt <8

Attempt any three questions. Each question carries Eight marks. But question No.9 is compulsory. (4+4=8)

Solve the equation by completing square. 11x2 —34x+3=0 _éd'z.d fd:‘é feblr (@)-6

Find the cube roots of 64. .ér}“ .,A-abki- 64 (b)

_n S =£& ﬂjérj”y’:d —S——-—-}-%-i--gﬁ Lni.fdtf’l;.-rjgk‘g;v!}y (a).6
p—q &

S-3p S+3q if S= bpg
S+3p S- 3¢ P4

Using theorem of componendo-dividendo, find the value of

3x-11 \ )
Resolve into partial fractions. (x+3)(xz+l)‘ P -é&?u—'-u:/dsf ()
/“"\_;;
Ed.FE(4nB) =4 UB u;tfé_gfwﬂﬂsﬂ{\z;z,ﬂ} o A={13,57,9}U={1,23,4,56,7,89,10} /1 (a7
/{“1
if U={1,2,3,4,5,6,7,8,9,10},4={1,3,5,7 9}511&/3 {2,3,5,7} then verify the De-Morgan's Law (ANB) =A'UB'
\ '\‘ "
& :ff ¢ |
Calculate variance for the data (|~ 10,8,9,7,5,12,8,6,8,2 : ¥ e Foir )
. 1 1 ) £ "
Prove the identity. - = 2cosec’d Eabistlr (a)8
l-cosf® 1+cosé .
In and around the circle of radius 3.5¢m draw a b ,45’ ﬁi,;slmlé.'.u'l-c;.( 3.5UhNe bl (b
regular hexagon.
Prove that if two chords of a circle are congruent then ,Z_ux.;—-w:d,m:_f pead UﬂJ 7 ::Lé..f'bflééaci,* -9
they will be equidistant from the gentre.
OR ¢ ¢ L

_..f,.b-:rl:f.uc..g.:u;/ Lo uiﬁ@mmgﬂ;df QRPN V4 15V M 4 Hob

Prove that the measure of a central angle of a minor arc of a circle, is double that of the angle subtended by
the corresponding maijor arc.

109-222-A-45000
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Paper :1I Group: I Objective (f.rf' l/-*»h'af O : g4
Time : 20 Minutes (1) 220 &Jy
Marks. : 15 PaperCode |7 | 1|9] 2 Sot=Gran 5: 7

A RS AN Lo ne BUME L2l Ly 1y WY2-BZ 2D 4 CB A A28l Z iy 1 ad
Kot bzl 2 b SL IS M S Y i

Note: -You hlvafumm'hr_omwjmwmﬁ&&cmd D. The choice which you think Is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A s~

Q.1 Questions /=il A B c D
Mg O ownsikped Sin L S8 2t F bl |
‘ x cbldlied bl cbbgf | uddfety)
1. | An equation, which remains unchanged whenx Is |  Exponential | Radical equation Reciprocal None of these
replaced by - s called a/an: equation equation
X
2, : AL A 0 1 -1 3
Product of the cube roots of unity is:
S 2a ;‘u:ruj:;é.':. pxz +gx+r=0cil f,a A
3. teti2p| 4 roa -2 -
If @,/ are the roots of px’ +gx+r=0, then p Q‘j 1 P ?
sum of the roots 2¢ and 23 is: a2
; ™ MEI T
4. bWl at Lahed o ”3*\;\ ;‘) 2 A Pison et
Inaratio a:b, "a"iscalled: Relation—)*|  Antecedent Consequent None of these
5. *4"‘:"’5 fﬁ‘ yl sl % . ,inﬁﬁj xgy; zi l}l
The third proportional of x* and y*is: Ota % x?
6. A3 =GR g f il S el
(x+3)* =x* +6x+9 is: o) a linear equation an equation an identity None of these
7. ol o FaTi S Ll 2k 4 4
The set having only one element is called: Power set Null set Sub set Singleton set
8. (A AL Au(BuC) An(BuC) (AuB)NC An(BNC)
(4uB)UC isequal to:
_.q.-aﬂ-r( #dbd.i'._; ;uk}:—-,fu::ffli{ b ol .I-‘.lfn—ﬁ'fﬁ bl
9. | The most frequent occurring observation in a data Median Mode Harmonic mean Mean
set is called:
ket e S U i Akl 250 i (5 Ll
10. | The observation that divide a data set into four Quartile Decile Percentile Median
equal parts is called:
i sin& 1 1
11. = 5 H = e
mcchoater " " cos8 siné cos
12. ,;z;nuéf_.-_}b&._ﬁ ow‘“’; the Az el Lsfd-.?:tf g Aapld
Radii of a circle are: e Allunequal | Halfofanychord |  All equal
diameter
13. _.;;_L-:r__ﬁ-..ﬁa,-f.:..}b...ﬁ db’b" 73 b ” ,l"
Acircle has only one: Secant Chord Centre Diameter
4k ST E AL T ; . i ;
14. | The semi circumference and the diameter of a 90 180 270 360
circle both subtend a central angle of:
15. ..4.‘;11'(&:"".-}& 73 Y » -y
The circumference of a circle is called: Chord Segment Boundary Area

110-222-A-38000
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Roll No. (et 237 o)
Mathematics (Science Group) $.S.C (10*™)-A-2022 (-.‘A/r ux' L')Lf.. L
Time :210Hours  Group:II Paper (M 24 PZIIY SEY £ BT R,

Marks :°60 Subjective (5 Susl-G2r22 60 A

<3 (9)4 Jirgfal, a2l el .:.Jf;..utf v g §3l 12008
Note:- Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /».»)

2. Write short answers to any six parts. (6x2=12) E M Lanige S 2
i. Solve by factorization. 532 =30x EJi Ak
ii. Write the given quadratic equation in standard form. xz; : "% =1 ..c’f u:(.atid;y'f.:.-hb*d u.ud" G i
iii. Solve by factorization. 3y*=y(y-5 SR i
iv. Evaluate. (1 —a+ ﬂ’l)‘ -c’ér-:‘"' of v
v. Prove that the sum of the all cube roots of unity is zero, &b Soar i’.._.-ﬂ h:‘grl.?cf_aﬂf é:eb‘ R
vi. Find discriminant. 4x? ~Tx-2=0 Ee P TE) i
vil. Find a third proportional to: (x-y)', ¥ -y | e d i
viii. Define Inverse Variation. _ \,:}a EuiSuFE i
ix. If6:x::3:5 thenfind "x". A f:;f":.;?:' < -ér?’ " in 6:x:3:5 /1 ix
3. Write short answers to any six parts. (8x2=12)9*“«i; ) .&"-”;/" =z LA:ZL;LG}' 3
i. Define a Rational Fraction. ’ N ;';:1 -éd.ff"' Lg/ e
ii. Resolve into partial fraction. ™ :ﬁ% ,ég_}:!? Vs G i
iii. If 4={2,3,57}, B={3,5,8} then ﬁnd\gﬁu}”(w : .&ﬂd” AUBJix B={3,5,8} ,A:{z,a,s,?]z’i i
iv. Write all subsets of {a,b} . . \‘\“ ™ P 4 L {ab)er v
v. Define Function. N . ﬂé-.d,/’-(jdlﬁ R
vi. Find a and b if (a-4,b-2)=(2,1) (a-4,6-2)=(2, 1)/iér,“” busla wi
vii. Find arithmetic mean. 200,225,350,375,270,320,290 -érs"‘" mr(_}lz il
viii. Find range from the given data: 11500,12400,15000,14500,14800 .&."“,ﬂf" 4 :irdist-m i
ix. Define Class Limits. E e ix
4. Write short answers to any six parts. (6x2=12) .é._f; bz .-f_,lﬂg‘:_{)f 4
i. Convert S?E into degree. _éutiu: Lﬁfi %‘{ N
il. Convert 60° into radian. Lyl s 60 il
jii. Find r when & ,—,% radian and {=4cm £=dem il @ =% cLds .?.ér-?’ ro il
iv. Prove that. (I'*"i“z '9)(]"'“"‘1 6)21 b v
v. Define Projection of a Point. ..é...;: rd SSLBY v
vi. Define Tangent of a Circle. é....!,; Jd wLliib i
vii. Define Circumference of a Circle. EaF88 L i
vili. Define Inscribed Circle. Eo 8 m i

ix. Define Radius. -éh!;db%f Jix



5.(a)

(b)

6. ()

()

7.(a)

()]

8.(a)

(b)

Nl

(SECTION-C /»_»)
Sest G ) 2a @D A R IIL gy clin L ciirif

Attempt any three questions. Each question carries Elght marks. But question No.9 is compulsory. (4+4=8)

Solve the equation by completing square. 7x2 +2x-1=0 _éd'.:.éﬂ,k‘éfmtf

=g* (I - m’)ﬁ,l.uuuuj 0wl ¥4 (mx + c)z =a* =ble S, ééazb

Show that the equation x* +(mx +¢)* = 4? has equal roots, if ¢? = g* (1+m’)

3x-13 2x 7 ..
Find x in the proportion. -G _ér}”af(fxuﬂ'-.,.-ﬁ
7 5§ 3 5
3x-11
Resolve into partial fractions. (x+ 3)(12"‘1] ,é{_}.‘.'? VaUs / (154

b ond (4NB) =4 UB InB={ L4,7,10}H;A§={i%;fs,79}f ={1,2.3,4,.....,10} /i

fU={1,2,3,4,...,10},4={1,3,5,7,9} and B = {1471o}theweqky:ﬂ1agwen (AnB) =4 uB

'?*"\ <,
Calculate variance for the data, 10,8 9;7,5,}2,3 6,8,2 et o By
. fﬁ\\’
Prove that: tan(}ﬁ:{«pot 8 =secfcosecd Ji F_é..-.ct‘
&\\" ) ~
Inscribe a circle in an equilateral trigqgl‘s ABC -ﬂfﬁ&,’d{f’ ,,-.Lw-,ﬂr_éfl-,.fbuj ¥ ABC &# Lol
with each side of length 5cm, & {;:,_‘:
i S = - . L. -
Prove that one and only one circle can pass through i .ﬂ:ﬁ_._ﬂafmhﬁc.mfjct ff:f:b
three non-collinear points.
OR L

Prove that any two angles in the same segment of a UE Lmuﬁg : u”éblgtlj[?jﬁbgfé—ﬁf é.:.el‘

circle are equal.

(a)s

(b)

(a)-6

(b)

(@.7

®

(a).8

(b)

-9

110-222-A-38000



d[/;l/ RoliNo.| | | | | | |(rs2bued

Mathematics (Science|Group) S.S.C (Part-1I)-A-2021 (¢ SV S
Paper : 10 Group: I Objective J:r ua;:.r;/ O: 44
Time : 20 Minutes (M L 20 &J
Marks : 15 PaperCode [ 7 |1 /9| 1 | Swi=G§/-2.) 15: 4

Ty | nﬁﬁfdﬁ/’b&lﬂ'Lvlkyﬂngﬁuﬁbﬁ:@:&b&dfrﬁ.;dﬁix.w.":é,;D #C,B.A ..::.H.t;.-“*ﬁdlrﬁ -ad
Ko b rif 3 fzir LS, 2SS ssmiie L

Note: -You have four cholces for each objective typa question as A, B, C and D. The cholce which you think Is comect; fill that circle In front of that
guestion number In your Bnswer book. Use marker or pen 1o fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 QuaallanJ Ity A B Cc D
g Al
1, 4&,@?6 Gan bx+c=0,b20 | ax® +bx+c=0,a20 | ax*=bx,a#0 | ax’=0,a#0
Standard form of quadratic equation is:
_P.,G' bad =1
2, Al -1, ~w, -@" -1, m, -a -1, -w, & l, -, -o*
Cube roots of -1 are:
1 1
'4-'“;*-3 I 1 1 a-pf a+f
3 = E- NG b M
LI T equal to: @ a f af af
a f
Juecv? /i
4 - u=v* u=k'* w' =k w’ =1
if wocv?, then:
g inaib=x:y/l b “_x,?;’;‘ | atb_x+y | a-b_x-y
5. kT 7 T 0D ol -
if a:b=x:y,hen alternando property is: L b (AN < b y x y
N A
?daﬁéfju{:f{jmgﬁ o ‘\,2\:1 I"|I<’
NN A B [N\a B A Bx+C | Ax+B C
6. e A R + +
Partial fractions of are of x=1 x+21\ 2/ x-1 x+2 x-1 x+2 x=-1 x+2
(x-1)(x+2) PNl
the form: (7 v
e form: T,
. (1 l:n.\; \:l\. -
-gbnii dNBIinAC B/ (\,‘f\; 4
7. NV A AUB
If A< B,then A B is gqual to: R
Yy U(Hw(ﬁ\\ o)
8. Qv 7| 4U(BUC) AN(BNC) (AnB)U(ARC) | (4uB)A(4uC)
AU(BNC)is equal to: 2
o & WU RET 01 ol 87 d:w‘ Fi &
’ A frequency polygon is a jnany sided: circle ___rectangle closed figure triangle
O __eeilis /i) e P dy P, b
10. :
A deviation is defined as a difference of Bsinstoait histagram e i
any value of the variable from a:
1 o 1 1 J3
—cosec45s = e R 2o
%12 242 2 2 5
bl F oS ) . .
12. sl 90° 180 270 360
A complete circle is divided Into:
JULGPJUE.#JJdPﬁa!JLQFB_Q '
AL re e 414 £ I';g;f
13. v
Two tangents drawn to a dircle from a half equal double triple
point outside It are of in length.
Mot ai§S ¥4 60° L' (8g (
14, | if an arc of a circle subtends a central angle 20° 40° 60° 80°
of 60°, then the corresporjding chord of
the arc will make the central angle of:
..o:;-hl'.;:h'u“ Ve s n 3 n x
15. 5 g o =
Angle inscribed in a semi-gircle is: 2 3 4 5
5% poA e el pm 108-221-A-49000 *




(1 v RoliNo.| | | (S 3 oD
Mathematics (Sclence Group) $.S.C (Part-1))-~A~2021 (_’,ff;,)u*k,
Time  : 2:10 Hours Group: I Paper (D 24 g oS 10: 5

Marks : 60 Sublective 361 Suit~ &1-2 ) 60: A
4N A B r Lodrf e §f e Lpn o §rii o
Note:~ Section I is compulsory. Attempt any three (3) questions from Section II but question No.9 is compulsory.

(Section—-1 Ji.22)
- Write short answers tp any six parts. (8x2=12) J{/@Uﬁ/’ Z..hth;r..{}f 2
. Solve by factorization, 3y* =y(y-5) =07 P
li. Solve the equation usijg quadratic formula. 2-x*=T7x ,éd' eIl G nnfebls i
lii. Define Reciprocal Equation. ..é..zj" Sebl-u®
Iv.  Find the discriminant of quadratic equation. 6x2 -8x+3=0 ..érf" I WablGnn v
v. Evaluate it. (1-30-30 )5 .fr}” A4

(P +72-0)+(x+1) LRl aal SWPPET

vi.  Use synthetic division fo find the quotient and the remainder, when: (x* +7x—1)+(x+1)

vii. If yocxand y=7whgn x=3find xwhen y=35 Jy=35..ﬁéﬂ""..=-ééx?ﬂx"—-3-...-ry=7.ulﬁyccxﬂ il
vill.  Find a third pnopurtlonll to: (x-y)", ¥~y PCN Eep A i
ix. Find a mean proportional between: -y, i;; Q0 ,L-/I § ﬁﬂ"’ Y7, YOPR
a Write short answers fo any six parts. (6x2=1 2};%1*3 b2 _é‘; e FLizigedsr 3
L. Resolve Into partial fragtion. % S
ii. Whatis a proper fractign? ~\ (\/\’ 1'4..&19" Al il
lii. Write down De Morgan's Laws. \‘"“1)/ .‘!angJLJJLdi il
iv. I X ={1,4,7,9} and P'={2,4,g}?ﬁi;§ﬁm XAy XY & #in X ={1,4,7,9) a¥={2,459 /1
v. If X=¢end I’:Z*Tanﬂnd XUY Xu}"ér-?’}'l’=2’* ,Xa——ﬁfi v

_é(.?’:rﬂddu;ﬁ.:yﬁﬁ ¥YxX 7Y ={d,e} s X ={a,b,c} AN i
v, It X ={a,b,c} and Y= {d,e} then find the number of elements in ¥ x X
vil. Deflne Class Mark. Eyfluee i
vill.  Find arithmetic mean. 200, 225, 350, 375, 270, 320, 280 el i
Ix. Define Range. -:;é..gid.—-‘ X
4.  Write short answers {o any six parts. (6x2=12) _&fd.sw; LA:II.(.:-GI A
I. Define Ratio and give pne example. Z sdb-..ﬁméqﬁfj.wj .
ii. Deflne Inverse Variatign. .é..!;{fu‘ 8 i
iil.  Convert 135° Into radians. EL el N35° i
iv.  Convert % radlan ul degree. .éd;u:gs)’m;.r_;,i: v
v. Find &,when: I=45m,r=2.5m .r.gél; ~8 v
vi. Prove that: (i ~sin’® 9)(1 +tan’ 5) =1 ok i
vil. Deflne radian measuré of an angle. -éu!ﬁtﬁu’.btfgm il

vill. INAABC,a=17cm,§=15cmandc=8cmfindmsB &0/ msB Inc=8cm mb=15cm.a=1Tcm ABC &% il
ix. Divide an arc of any langth into four equal parts. ,é{a:-'f VeUrT dsdy v J..ﬁﬁzhﬂu’r Jdx



5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

L T B [ I3 ’w‘ -q '-2,
(4+4=8)  _c $1(9) AireF BANL iy g sl L cbivef < 38

Attempt any three questions. Each question carries Eight marks but question No.9 Is compulsory  (4+4=8)

x—a x+a 17

B T _éJ Ffabls

Solve the equation. x+a x—a 12

,.u:?z —-—-uju é—l’.-»..,.l:lr‘iu:rujuz.-x =3x+6=0zbl 4, all

a
If @, 3 are the roots of the equation x* —3x + 6 = 0, form equation whose roots are — £

B a
P fé }"._J'J‘T 3p 3+3q£.ﬂ£.fdtf"r..ﬁ(,k‘gh,.f;y
pP-

s+3p s-3¢

- +3 6
Using the theorem of componendo-dividendo find the value of f—ﬁﬁns—-—i.,»lﬁ;.,; P4
s+3p 5-3¢7\%) p-gq

P el I p

X --3x+1 g
Resolve into partial fraction. (x 1 ) ’ﬁ '3\ 2)‘ -éd:." T

XN (Yuz)&erinz={2,357, i, @;1?19 23} A ¥={0,2,4,6,8,..,20} X ={1,3,5,7,...19} /1

X ={1,357,..19}, ¥={0,2,4,6,8,.. ,20};;6\2 {2,3,5,7,11,13,17,19,23} then find X (¥ L Z)

2 Lh e
5, :-..\. B

' F"\‘ JJ L r

Find the standard deviation‘s”. _ ™ 12, 6,7, 3,15, 10,18, 5 'S S
siné& +cos @ cos® @
Verify the identity. tanZ 8] sind —cosd .é.:.g&f.:)'lf
Inscribe a circle In an equilateral triangle ABC with each _H(SJHJd" A.:Cu?.?t._r.’.,la.’b;r“ ¥ ABC & Lwnsl
side of length 5cm.
If two chords of a circle are congruent then they will be equidistant .Lu.rr.l-tilld:f.fc_f ,-u.-"u:rgf i e /i
from the centre.
OR L

Two tangents drawn to a circle from a point outside it,are equal in length. _(t LMHJ—JLJJ Uui»[.r_.ﬂm.ﬁ[}wo‘r

(a)-5

(b)

()6

()

(a).7

(b)

(a).8

®)

108-221-A-48000
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Mathematics (Sciencd Group) $.S.C (Part-I)-A-2021 (.',;/ ad® XY,
Paper :1I roup:II Objective U‘:,-' l/.u:.,af o : 44
Time : 20 Minutes (D 2 20: &

Marks : 15 PaperCode |7 | 1|9| 2 | S} =3/ 15: A

-ﬁ:ﬁ:-u._‘i/’ﬂfl}l*CﬂPf..q.rlﬂ#JJc.gfu:ﬁ:Etif:&bﬁdlrﬁ{qu}m-gﬂi?,.JD #1C,B.A w{fﬁf}kﬁdlrﬂ “ad
-fﬂ:)’aﬂﬁxuf 1 feur JJ.J 4_{ -‘-rﬂi-f 4-'( skl ekl

Nm-YmhmhurMﬁLndmhjwﬁwwmuA.B.clndD.Thimmmhpummtllmm;mlmwmmmm

question number in yourianswer book. Use marker or pen to fiil the circles. Cutting or filling up two or more circles will result no mark.
Q1 Questjons /=i ¥ A B C D
. |
1. | An equation which renjains unchanged when x is exponential reciprocal radical equation relation
replaced byi is called a/an: equation equation
X
e S L2 LN
2 0 1 -1 3
Product of cube roots gf unity is:
1 1
sl —+—
a 1 11 a-pf a+pf
3. ¥ T i
LS. equal to: = & f af af
a_ p
.4-*’5‘/4‘ y: M x" yl 1\12L\:;.\1 y‘ yl
The third proportional af x*and y* is: x* a ,;\EQK x* %
N
et g7 Inl =L x5
5 i b d a _,g:-(‘\_‘;- “a _ ¢ ad a-b c-d
a ¢ ?1' AT i = = —
If —=—,then mmponFndo property is: a"{?f‘ _h/*d a-b c-d be b d
b d (a0
- e 41 q0) -
T (x-l)ggﬂ:@ Y RIS A Ty Hu S
6. 3 A
ot is alan: 5:\\“ ) & proper fraction | improper fraction identity constant term
(x-1)(x+2) A~
0
, -rrénuéua)ﬁz_i_fgu&f 1 \
3 4
The different number of ways to describe a set are:
. ledeAnBInAcB /i :
. A
it AC B, then A B id equal to: 2 AVB
o L’*bd{j“rd”’cﬂru} sl = G87, P A5y
' I:;s.zr::dc::;::?mms of observations ina average | range central tendency dispersion
10 o |_SWusmELEN Y 6o P ol b e
) A frequency polygon is g many sided: closed figure rectangle circle triangle
n.|20°= 360 630 1200’ 3600’
g bble Z fe S’ ]
2. EL 9 180° 270° 360°
A complete circle is divided into:
3 -ana-gia/l’;.-ib_ﬁ AT 73 Y. iy
13.
A circle has only one: secant chord diameter cantre
W TLENS I U TS 4P SO0 Da I Je S 2 G o
" The arcs opposite to incgngruent central angles congruent incongruent parallel perpendicular
of a circle are always:
&5 MW Tt ) & S 4’3
15.
The circumference of a circle is called: chord segment boundary tangent

] F W 110-221-A41000  *




Mathematics (Sclence

Time
Marks : 60

: 2110 Hours

M7 RoliNo. | | | | | | (el 2st oD
up) $.8.C (Part-l)-A-2021 (/Y
Group : II Paper (ID 24 l/u:.,df &0 1

Subjective (1 SWL-G2-2| 60 : A

Note:- Section I is compulsory, Aftempt any three (3) questions from Section IT but question No.9 is compulsory.

vill.
vill.

i
ill.

vil.

viil.

i.
il

vil.

viil,

(Section—1 Ji.2)

Write short answers tg any six parts. (6x2=12) JJ.&HI}" Linigedf
x+4 x-2

Write the quadratic equétion In the standard form. 1 . x +4=0 J bcr'aﬁd.ik‘fabb‘ﬁnn
Write the names of the Tuthuda for solving a quadratic equation. Af rhiuﬂ)&.}.—f S Fabl B an
Solve it. JBx+18= 0
Discuss the nature of thp roots of the given equation. 2x-Tx+3=0 .5’-.‘:-"4(9!60’ nL;J.pI.-"d" %
Evaluats it. o+t +1 ﬁr}"' :/3

Poxi3=0 Bl S btk BES TG on

Without solving, find the sum and the product of the roots of quadratic equation x* —5x+3 =0
if Ve R and ¥ = Swhen R=3 . Find Rwhen? =625 _#V =625 4/’ cASRInR=3 V=541V < R /]

Express as a ratio a: b
simplest (lowest) form.

Find fourth proportional

Write short answers t:* any six parts.

Resolve into partial frac

Define a rational fraction.

Define a subset and givp one uxamglea,%
If X ={1,4,7,9} and ¥|={2, 4,5,\’9} ttien find XU Y

If X =¢and ¥=2"then find XAy

nd as a fraction In its 75°, 225° ,é,qr.n.ﬁgf’{_,-‘?)uu 8/ sa:berlflstn
to: P+q, 0’ ~¢, R {*\éﬁ'&  aa
(eﬂﬂz)f\“ E por A Lagige b

;ru*li-
ion. ’(*ff":‘ﬂ( x+3) _édi s
a’;‘{"" Eaf8 S
Ao £yl

E XUY I X ={1,4,7,9) 4 Y ={2,4,5,9} /1
P XAYIY=2" X =9/

Find aand bif: (3-2a,b~1)=(a~7,2b+5) Nt A8b via
Define Class Limits. . i Eo A 2
Find arithmetic mean. 12, 14,17, 20, 24, 29, e .ér}"w;}{;
Define Geometric Mean, S oy s I
Write short answers to any six parts. (6x2=12) R .é;}.:uu.xﬁ’ L.lru[q:-éf
Define Proportion. B B £l
Find x if 6:x::3:5 ¢ “rlt_.._.'..w Eé -:rﬁ:x::S:Sfré,-}"x
Convert —150° into radians. e Ed et 1-150°
Convert —%n’ to degIe e W ARN T —En
By ey
Find 7 , when: I=56cm, 0=45"+ 1 ot
Define Angle. o ,ﬁ -A‘é--l;ér"f

Express 125.45°into L

In AABC find mBC ,if

For an arc draw two pen
of this arc.

Ars aM. D 712545
mLA = 60° s mAC =4cmsmﬁ=5c‘m.§éf?'m§2? U= AABC
mAB=5cm, mAC =4cmand mZA = 60°

¥ M’ S" form.

pendicular bisectors of the chords P_Qand I}ﬁ .4‘_";‘1 obfsr nd EE 2l F’E Lol

- e MHeg «

< DA R ayrLuhrd e i Lo g dniioed

i
i

v

Wil

vill

il



5.(a)

(b)

6.(a)

()

7()

(o)

8.(a)

()}

£
Section—II rn2 Swi = §2-2)
(4+4=8) < $1@)Avf Ut ANL iy g E reir Lcbivef S

Attempt any three questions. Each question carries Eight marks but question No.9 is compulsory ~ (4+4=8)

— 4[:: 3) 4 sl

Solve the equation. - 3 )

Unat, Bt J:;Lgﬂ:j—hahlf;u:fujué. x*=3x+6=0cblf,a N

If e,/ are the roots of the equation x* —3x + 6 = 0, form equation whose roots are o, §*

P -q

Find x in the proportion. P Hpg+qix: p+g (P ‘?)\ \_':/- ) ..éri”-:rfé X Uierf
x +2x ‘I‘l \ (‘\t 2
Resolve into partial fraction. (x- z}é*i" 3} .,éédf? BT

A-B= AnB‘émb{ﬁiBﬁ:{H?m};ﬂA {1,3,57,9} .U ={1,2,3,4,..,10} /1
/{“1

(x\

IfU={1,2,3,4,..,10}, 4={1,3,5,7,9} and H?\I\L-‘l?lﬂ then prove that A—~B=ANB’

__.4“\,‘ L

.\:\ I". o
Find the standard deviation's’. (-0 12,8,7,3,15,10,18,5 A O
Verify the identity. (cot8 + cosec)(tan @ —sin 8) =sec & —cos & YT

Circumscribe a circle about an equilateral triangle ABC with  _»r dWJ&” AL Nl i 2K ABC &7 LSl
each slde of length 4 cm.

Any two angles In the same segment of a circle are equal. AL azfil U:réb;ﬂ.ihaﬁ Lsuﬁzd_..su
OR !
AR 4SO b LA NT I A4S 32 sSS p 35 S I Ser i)

If the angles subtended by two chords of a circle at the centre are equal, the chords are squal.

(a).5

(b)

(e).8

(b)

(a).7

(b)

(e).8

()}

.-9

110-221-A-41000



Mathematics ( Science Group ) ((buﬂf I .:.ul;du??] (IV) (,,,‘_,,):,r:"i,-) u"!y
Paper : II Group : I SWL~- IO-G|._-]_O ,,sfxl:-; II: 24
Time : 20 Minutes Objective  (5*) s 20 0
Marks : 15 Code ; 7987 15 : AF

_'"J,f?‘&uie-‘,/cl!:}f):d&"&:l?i.f|ﬁ.:/ﬂ; Ju:;’;ééJébqid‘nfjéh/d‘ﬂ ..;_.:?é.r:..':.‘...: D.u C B Azl |£.‘-§zlg£-'_.hrjq 2y
Wi (20fi B e S S AL S i L
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in frent of that question number, Use marker or pen to fill the circles. Cutting or filling two

or more gircles will result no mark.

""ILLJ_;'L‘U':ILZ.;.-?JP “]12)1{213]v{113)1(3=4)} b 14

1. 1. The relation {{'I,Z}.{Z,3},(’3,3},(3,4]} is:

into function u“li"{utﬁ:' A1 (B) anto function Jli'-(gtﬂ);'ul' (A)
one-one function ._}‘u?l.’_fﬁ ) s (D) not a function é.uf;fw'(u‘ﬁ b (C)

2. Sum of the deviations of the variable A from its - :ﬁ*__.t-.u;f !’....i'f'l.z. .iwr;_}'uibf ¥ X 28 ] -2

mean is always:

same Le L' (D) two s (C) one 1 (B) zero > (A)

3 The spread or scatterness of observations In a data set is called - tib 51 h’al.&;,d.rl:'d'j <3
range = (D) centraltendency wiaf’s (C) dispersion 3 (B) average Lo (A)

4 Cosec? @-Cot*6= ~e-benale Cosec’ 8—Cot*@ -4
tanf (D) 0 (C) 1 (B) 4 (A)

5. A chord passing through the centre of a circle is called. e bl S Sl 5
secant 6% (D)  circumference 4 (C) diameter & A,\(B} radius v (A)

6. Atangent line intersects the circle at: = & {“:’: [y S vl 6
two points £b@ 2 (B) ) @ three points £5BE (A)
no point at all u:-;u"r{.kﬁu"‘: (D) 2 ;;}E;},w single paint gL (C)

. An arc sublends a central angle of 4()°, then the

f‘-‘.\.&i@\'j ='JI‘;6'.';‘(’:-’—;H"£-...” -« 40° ;rs'.ikf}g"fuf;..f_" T

corresponding chord will subtend a central angle 0\)‘)

80° (D) 6050 (C) 40° (8) 200 (A)

8. Angle inscribed in a semi circle is. ’ﬁi;\é@ = ~ Tt sl s e Fhist 8
% 0 O e © %oo® AN

9. Two linear factors of x~ A’Q}-}-Sﬁ are ..L,[.'J_;E"d»._l_f & xt—15x+56 -9
(x+7) and (x - R'}\ (B) (x—7) and (x+8) (A)
(x4 7 and (x+8) (D) (x~7) and (x-8)  (C)

10. Product of cube roots of unity-is; . ; . ..;...‘.‘..,-"L,""‘o!'.._.aﬁ;igiqul -10
T T o RERT 1 (B) 0 (A)

11. Two square roots of unily are. § i ke S8 A 3 -{:JE’I -1
o,@° (D) L-o  (C) . lLe (B) L-1  (A)

12. Inaratio ¢: b, @ is called: — ekl aytath o 12
equation =L+ (D)}  consequent r;.:d,m I(Cf- antecedent /¢ (B) relation .J’; (A)

13 1f @:b=Xx:¥ then invertendo property is: N e @ib=x1y fi 13
L -2 @

14. Partial fractions of e are of the form: ndr PEATvA . T _14
(x—1)(x+12) " . (x-1)(x+2)

Ax+ B A +C / A

J,l:-lﬁ x:- 2 () x—1 : ix--EL ©) :[-i{ x’?z ©) FT xfz A)

15. Point (—1,4) lies in the quadrant . ettty (-1L4) & _15
v (D) Ay 1 (C) 1 (B) I (A)



Roll No. Annual 2020

Mathematics  (Science Group) (o e I1 LSk (/) u"u
Paper : II -0 - -0 II :

Group: I ‘SWL a' 4.',.1:"
Time : 2:10 Hours Subjective g;itﬁii) s 2 10 =
Marks : 60 60 -,I'./U(

89 A A epnLudrte Medinio ¢ Silize 1 2d
Note :- Section I is compuisory. Attempt any three questions from Section Il but question number 3 is compulsory.

Section-1_| ,_|;|£-

2, Write short answers to any Six parts : (6x2=12) :égfg—.yﬂ/""’iﬁl:ﬁ!l{c_ﬂf S )
i. Solve by factorization. 3y =y -5) LSS i
ii. Write in standard form l—+ : =3 _.?.Tu.‘.fd.rl.v&:.hw _Hi
x+4 x-4 )
iii. Define Exponential Equation. Write example. P Je ~$4fJ&’JPJJ¢3 -t
iv. Find the discriminant of given quadratic equation. 4 xz -Tx—2=0 -é{#ﬂﬂ&)(@’!b‘dﬂ ¥ 3:1(_5: ~v
(4x° —5x+15) + (x+3) B Se A et n L SN
v. Use synthetic division to find the quotient and the remainder when: {4.1:‘1 ~5x+15) +(x+3)
vi. Prove that the sum of the all cube roots of unity is zero ey 4 El,»ﬂl;ivrﬁi Josrsie i
vii. Define Inverse Variation. P ’*"J n..ﬂ‘f",:Jy':’,:" -vil
viil. Find x,if 6:x::3:5. »\rg\{_} &k x 7 6:x:3:5 A i
P
ix. Find X, in proportion A E 2— ? {vf r";_-/?':hf X -~ E_Ji—z-lz -l X
8§15 %)' 7 5 3 35
% . y
3. Write short answers to any Six parts : {{:\’Eﬁj{ﬁﬂ =12) 42'::.-.-.i,l£/""£al2!.-:edf -3
i Resolve into partial fractions. ‘"‘3\"\ f/ ﬁ a":d."i::,riﬁ,z i
ii. Define Fraction. (@»\\E EEa AL i
iii. If set M has 5 elements, Ihewﬁf%ihe number of Binary ..iif':.l":i"".sl.@{_(k-'hxél'fuf M st 5 £ M ool i
Relations in M <3 7 ' _
iv. Find @ and b f VLl @ab-2=@) T S boaa v
v. Findthe sets x and y if < xxpy={(a,a),(b,a), (c,a); (d,a)} Nl Vo X 2 v
vi. Define Intersection of two sets. . o WSy » i
vii. Define Class limits. b e ‘ v Aein i
viii. The salaries of five teachers in rupees are as foliows, Find range. P (i u)u:-'-'.;’-ﬁ:f Hék -vili
11500,,12400, 15000, 14500, 14800
x Avariable X takes given values. Findmeanof X;  4,5.8,6,2  -&pPlaidiodusddnd X 2 ix
4 Write short answers to any six parts : ; ( 6x2 =12 ) -:»‘_f:mglzﬂzi,*mgc.éf -4
i. Find € when f’-4 Sm , r=2.5m L Lfrw & i
i. Simplify to a single function \.‘ * Sin®x.Cot*x S0l i
ek m< B e a=17em, b=15cm, c=8cm & AMBC Ji _ii
ii. Ina AABC, a=17cm, b=15¢cm, ¢ =8cm  find m< B
iv. Differentiate between a chord and the diameter of a ke FOALPLN w0 Hle 0kl v
circle with diagram
v. Define Tangent to a Circle. 2 S o
vi. Define Chord of a Circle. & nL i i
vii. Define Circumangle of Circle. _.‘-‘;_‘:;...-;n'/‘?;f,ﬂ}/!.fc’_:;._}!.- -vii
vili. Divide an arc of any length inlo four equal parts. L use s Je KrESIUS i

iw The lanath of each side of 2 reautar actagon is 3cm. S/ e 1 e R JUJ dff:ﬁu“?" L1 ix



(2)
Section - II fn.>

(A 4T Lz ) e it @ ArEEsayrnlairde 8 i

Note: Attempt any three questions. Each question carries (8) marks but question number 9 is compulsory.

5. (a) Solve the equation by completing square. x*-2x-195=0 _:-;f,_)'g‘,’-/;}?_zui_r:f.—.hw (a)-5

_unul Y e Q¥ <13 -]4).‘1-2.4 =0 =lls-4 .43 /"} u:f;"r‘—:‘gj{},.;‘.f@ (b}
(b) Solve by using synthetic division if 3 and -4 are the roots of the equation x° +2x” —13x’ ~14x+24 =0

) ]
o m=432 s Zep Nt yn=6 2 -EJ_:{J"’ Mg n=4 6 m=2 4 mxc— Ji(a).6
- -& = -2 r

6. (a) If mml* and m=2,when n=4_ find M when n==6 and # when m =432
"
9 2
(b) Resolve into partial fractions E:w -fil}ff n w7 (b)
7. (@) If U={1,2,3,..,10) i?:%\ U={1,23,.,10} A (-7
A={1,3,5.7,9} o N8 ={1,3,5,7,9}
~4\
B= {1,4,7,1{}} X ) B= {1.4, ?,lﬂ}
(A
f‘wdr:}@
then verify (4 B) = A'"UB {}}/ (A=-DB)Y=A"UB &=ty
r\, é\
{b) The marks of six students in mathem e as follows. -c:.“"-:r:""_-/-" Sl f"uffb.fu‘l.;f_u.-)'dib Z (b)
NN
Determine variance ;’“\ia .“‘}
T~
Student 1 2 3 4 5 6
Marks i~ 60 70 30 90 80 42

8. (a) If Tané’:% and Sint? <0, find the values of ,&fr:"":..-f,; ) Ju“ﬁﬁl_gff}i.?ﬁ Sinf<0 TanE}J:g— S (a)-8

other trignometric function at &.
(b) The radius of a circle is 4cm. Draw a square in and around it. --’:;_t:d/;l, s S -:;..)-fd"fcl Sk 75kl (b)
9. Prove that: If two chords of a circle are congruent L usdeisloc Spuiun ey Lol SEew 8
then they will be equidistant from the centre
OR L
Prove that. Any two angles in the same segment  — 7L szle/fy -urfgllu:n?b-'ﬁ(}"-&"i'e:'i oS S

of a circle are equal
109 - 220 - 35000



Mathematics ( Science Group ) (ﬁsw' II ..:u&d;ﬁé} (II) (.,,sfu-""v) o"'p
Paper : II Group : II SWL- |o-a_3,—2_p n.r!f_lfﬂ II : 24
Time : 20 Minutes Objective  (552*) e 20 0 =h
Marks : 15 Code : 7984 16 : AF

& fe SRS L g eepe L L Lt L v P B EsD M C B A 1Rl Jivs s
¥ l"ﬁ.-‘:l""hu.f-?r! il uf.:u-.r“qf.'_ s 4?..'.;(1_..*&_;4',;@!}11;:_’! de ..._;f
Note:- You have four choices for each objeclive type question as A B, C and D. The choice which you think is correct,

1.

10.

19,

12

13,

14.

15

1.

. The n"™ positive root of the product of the

. The circular region bounded by two radii 2nd the

. A circle has only one

fill that circle in front of that question number. Use marker or
or more circles will result no mark.

o
The identity (5x +4)* = 25x" +40x +16 is true for.
two values of X UFL (B)
all values of X ;_JFE[‘L; (D)
It AC B then A B is equal to:
¢ (D) AUB  (C)
. Point (—1.4) fies in the quadrant:
v (D) m (C)

. The observations that divide a data set into four equal parts a

median ks (D)  percentiles .2 (C)

r’
Apa Xy X550 Xy, Observations is called

median _&-s (D) geometric mean Lol T4 (C)

Cf tan @ = JE then & is equal to:

30 (D) 60" (C)

<

corresponding arc is called:
sector of a circle

segment of a circle

/u'l‘-;b‘g_ #1y / '
~{5%’@?)J

-

centre *» (D) A (G)

of a circle are always:

quartiles .=Jlz (B)

pen to fill the circles. Cutting or filling two

$ X Gx+4) =252 +40x+16 =L _1 _1

one value of ¥ = L (A)

three values of X Ul (C)
e bs ANB 7 AGB /2

B (B) A (A)
bl (L4) B3

n (B) 1 (A)

-7
re called: bkl fo AU hivazicld -4
deciles -=J3> (A)

_ﬁLt‘iE_';JJI:Jg‘;..} n" Iﬁ__,_?,_,-“i“':;.u Xy s Koy Xyganans X, .5
mean L""L"P\ (B, mode sk (A]
B :
,.<9 2 ) v anf=-3 /1 6
I P
{5;@9 (B) 90 (A)

7 gljejc_bf;;iﬁ’.f:u)!r Al Uyl s 23kl 2 (T

!,\ _":,) <

-~

circumference of a circle kb sy (A)

Fe o (C)

SO S L () 73 TS
(B) Cow (A)

diameter of a circle

chord & ~secant

. The arcs opposite to mcon@ Céniral angles _ur_:d.r LAl v.iug:ud}}uﬁgté » S Fhkl -9
0.

incongruent _VJ%?",'..’-: (B) congruent J‘I.F‘ (A)
perpendicular  * &E“J {D) parallel g~ (C)
The meassure of the external angié of a ?gular hexagon is -5 J:r;‘-@;,@.. .-l:-J sﬁ&-.f.s—'..._{! -10
4 n T n
s © Swm¥. (@ 3 @) 5 W
The discriminant of ,«_u;?' thx+e=0is : _-g..:.'.rm-‘-'-r.})f mr? +hx+c=0 =~ .1
0 -4ac (D) B4~ ©),  BPedac (B) b —dac (A)
The number of methods to solve a quadralic equation'is: . . S AEL L S aihaGn 31 A2
a (D) 3007 . . 2 (B 1 (A)
it e o then: k N g e 51 A 13
Yo Y=k () y=a g A ™
In continued proportion ¢:b=b:c, Cis .ot Ce bmwagab=bc_t) .14
said to be proportional to @ and b,
none &S (D) means s (C) fourth 2 (B) third 12 (A)
Roots of the equation 4x> —4x+1=0 are: - 3,,;':.-5. 4xt —4x+ 1=0 =~ _15
real . unequal Ji-"f,;ut (B) real , equal J? lele (A)
irrational Jud (D) 2 imaginary & (©)



Roll No. Annual 2uLY

Mathematics (Science Group) ((i:u'lﬁ': II ..*.-;w.ri'-?} (,nfu""'lr) U'".I,;
Paper : II II

Group : II SWL- '0'6)- - U Iy .‘j)‘
Time : 2:10 Hours Subjective () & 2110 ¢
Marks : 60 60 : AS

69 A oyl vhnde e simie ¢ Giidize : 3
Note :- Section I is compulsory. Attempt any three questions from Section IT but question number 8 is compulsary.

Section-1_ ()il

2. Write short answers to any Six parts : (6x2=12) i fez g e 2
i. Solve it: X’ +2x-2=0 B g
ii. Solve by factorization. 3y = y(y-5) _.’;ﬁd’:j;f—_yé i
iii. Solve by using quadratic formula. 2-x'=Tx 2 fe W8 » il
iv. Find the discriminant of the quadratic equation. 9x’ —30x+25=0 -‘_é' r}”-ifJ,:’E’.:.I;L-LLJ P

x'=5x+3=0 -E.fr?’?f&"b ol J-yfb'u}u,:"'-'éjjd’fg-lsubiu PIgY,

v. Without solving, find the sum and product of roots of the quadratic equation. x'-5x+3=0

vi. Evaluate. w4+ w" =5 Eped i
vii, Express as a ratio @b and as fraction in its simplest form. 2t ot azh eI 32000 Vil
27 min, 30 sec, 1 hour

N 4S) .
viii. Find X In the proportions. p 5 pq+q o i {p,(ﬁq, oy -E__-,rﬂ".;:.-é'f X Lk il
p+q '
M “\f L SC i
ix. Define Inverse Proportion. RS - A -ix
3. Write short answers to any Six parts : { L\ _)?5:2 =12) -ﬁ_mglﬁfyﬁflziia.&f -3
i. What is fraction? \{‘ ; ?;f}:ry}—’ -
A O\,L f/ )
N X
ii. How we can make the partial fractio \—{“H-—— ? '8, (T3 wJL:L)u’c/d’;L, i
,\h AN x+a)(x—a) (x +a)(::. a)
ii. Define Binary Relation. (‘5 ‘“3' : : 2t 3 A6 i
AN
iv. Find @ and b if 2 (3 2a,b=1)=(a-7,2b+5) Sigp b o @ iy

-é.r‘r".wd XUY 7 ¥=1{2,4,59} . X ={1,4,7.9} Ji .v
v. f X={1,4,7,9} and Y = {2,4:5 9}‘"thenﬁnd Al

vi. State De-Morgan's Laws. 4 ) el fﬁédcl.d 3 _vi
vii Define Range and write its formula. o= S Forik) o e i
i, Find Arithmetic mean of 200,225,350,375,270 320,260 - L& p#hsijlL>¥ 200,225,350,375,270,320,290 1" -vi
ix. Find median of 1.9, 2.3, 2.5, 2.7, 2.9, 3.1. "% 4§r}v e 19,23, 25,27,29,3.1 57 _ix
4 Write short answers to any six parts : ( 6&:2: 12) . ' -cﬁhgfﬂﬁiﬁplﬂ;@ & -4
i Find @ when 1=2cm , r=>3%cm et éf”b g
i. Simplify to a single function. tan x. Sinx.Secx  * A pFe G i

e m<A dn A= 17¢m, b=15cm, c=8cm 2 AABC Ji i
i Ina AMABC, a=17cm, b=15cm, ¢ =8cm find m < A

iv. Differentiate the terms with diagram, "A circle and LK g e 2 Pridit b v
a circumference ".

v. Define Secant of Circle. -é'..afgf&”ﬁﬂ_ﬁﬁc..}u v
vi. Define Circumference of Circle. -.’.-‘L.é_ﬂ /:"J wl o A _vi
vii. Define Central Angle of a Circle. LS il it il
viii. Divide an arc of any length into two equal parts. z 7 _ﬁ}'-}fﬂu.éw 2 :[,ff...ﬁ-f Judj -viil

& P ol o7l T PR



Note:

5. (a)

6. (a)

(b)

7. {(a)

(b)

8. (a)

(b)

(2)
(A T L) 488 9 AdrfGrepploindea df o
Attempt any three guestions. Each guestion carries (8) marks but question number 9 is compulsory.
Solve the given equation. 3x 2 +5=8x"" iﬁ'u’fahw;}-fﬁ {a)-5

.+ of the squares of the roots of the equationis 2 find k. &= e (k Jn 2 oof KUl Sl =il (b)

4?4 3kx—8 =0

2 2 2
If 2% then show that i /ij e ,J’E,‘.l-’-:-:lr‘; L5 8 S (a)-6
6 d f b '\bl.,dz.i.f?f b d f
Resolve into partial fractions u_xu;f-ll -.—;’;f‘,}:l; L 7 57 (b)
(x—-1)"(x-2)
If (J = {1!2,3,4,...,10} Q@\I [.‘F = {]' 2,3‘4?.”,10} ,/Jf {a]-?
={1,3,5,7.9) @O < A={1,3,5,7,9}
= {1,4,7,10) o 313\ B ={1,4,7,10}
Q:)}v |
wt@
then verify (B—A) = 8'U A @\5"’ (B—AY =B UAd 2y
©
Find the standard deviation ' S ' of se@&lmber‘s 9,.3,88%58,9 18 -ﬁp‘-’“ 'S’ ...i-'j-id;_l.u {b)

~A -2

_5_,'-* Sk oLy e 10 SASTFIE @ 205 1 C == Ji(a)8
QW 7 UJ'UE’E}JTLFU:.-» J 6 i s Cos 1 {a)-

If Cos0 =:§ and terminal arm of the angle @ is in quadrant IT, find the values of remaining

trignometric functions. g

Inscribe a circle in an equilateral triangle -nHG75 Jl:-iurdfqd: v .'J::-"-‘E:,-l:u}lw-‘" ¥ ABC 2 laf =g~ (b)
ABC with each side of length 5cm.
Prove that: A straight line drawn from ety s sl L /L Gz B0 2 e e Sk .9
the centre of a circle to bisect a chord {(which is not a diameter) is perpendicular to the chord.

OR L
Prove that Any two angles in the same segment sl il :u;:cffsu.’fs Faabi G Ling oli v S

of a circle are egual.
110 - 220 - 26000
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Roll No. Swt Annual 2019

Mathematics ( Sclence Group ) (AU « I ..'.-Jgd.!i'-?) (IIT) (TJU"’L-) Ty
Paper : II Group : I . bt II: 3
Time : 20 Minutes Objective ((§5>) w2t 20 =
Marks : 15 s r t:ozj 7985 P P 15 AN
e /f BLINS ISl IR e e S s VL vy oz .o {.J D Rl Ll iy 1 s
A - N -fn;jj..,.—l?uf gﬁuifJL-f‘/ I’}L Juuhty&:?

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two

Or more ~ie=izs= il emmnll in ==~ ~ark in that question.
1. 1. Aset Q'{;F‘-b € Zhb*o} is called a set of -t ..*..gQ={§fa,bE Zab= 0} 11
natural numbers sl (a3 (B) whole numbers ,lel J‘r (A)
rational numbers st b (D) irrational numbers el Pt Z  (C)
/" 2. The number of elements in power set {1,2,3} is ' ..q...J.ﬂ' Sfukn £ or a £ {1,2.3} -2
9 (D) 8 (C) 6 (B) 4 (A)

3. The extent of variation between two extreme observations of a data - 73L/ J) £ =L J@1 § s ¢ -3
set is measured by
dispersion & (D) quartiles = J.Az (C) range =~ (B) average L~ (A)

37 _ 3z
4 a radian = = ofLs & b

30° (D) 150° (©) 135° (B) 115" (A)
~ Locus of a point in a plane equidistant from a ...:,-..I.'Uf Urg &2 die .B‘H' uffi: < ¥ b8 0 Ly 5

" fixed point is called 4
: r‘\_ _,1‘ ‘
diameter ¥ (D) circumference i# (C) of:?i/ w7y (B) radius e (A)
6. cosec’@—cot’ @ = " i:g“*\\c cosec’ @—cot’ 6= _g
N
tan & 1y N

() 0 (‘-..-:"L‘r@] 1 (8) 1 (A)

7. A tanget line intersects the circle at "'\{‘J‘f - s f‘_zu._.rvs ..{ .

no point at all L& 5% 55" (D) single point ¢ m‘c}.ﬁ (C)two points ¢ 48 1 (B) three points ¢+ <& (A)

8. The length of a chord and the radml {‘iﬂ\)}’a‘ u‘.{r W Ea 2 s ele WS s 23 Ly £ .8
segment of a circle are congrumg \J‘he centrai angle made by the chord will be

75° (SN} N (C) 45° (® 30 (A)
8. The measure of the external angle of a regular hexagon is > J.rr .;I,G'J &ali Jw Py -]
z L L x

2 (D) 6 (<) a (B) 3 (A)

10. Standard form of quadratic equation is ...,-..J’ Uolns g bl a3 =10
ax*=0,a=0 () a’=bx, a#0 () a’+bxr+c=0 , az0 gbx+c=0,b=0 (4

11. Product of cube roots of unity is v P sl S0 11
3 (D) - (C) 1 (B) 0 (A)

12, If b* —dac <0 |, then the roots of Bl Lax +bx+c=0 =i b —dac<0 S _12

ax’ +bx+c=0 are
equal Ssis (D) imaginary ¥ # (C) rational J*t (B) irrational JtZd (A)

1 1
130 ¢ J’z"‘:;‘:" then ?J’z‘*;,'ﬁ -13
1 k
yi=kd o y=x* (¢ V== (@ ¥ =y A)
X
a c ) a c
14. ¢ 3~ 4 then componendo property is et ST I 3= 14
a—b=c-—d .ai a __ ¢ a ¢
b d ® 5% © o F%—ad ® 7 crd ()

15. A fraction in which the degree of the numerator -.,:.Jﬁr"-'.n.cujg ki apn L8 F a0 € 1 LU ~ .15
is greater or equal to the degree of denominator is called a / an

identity wlle (D) equation =i\~ (C) improper fraction ,-f.,.:.u /2 (B) proper fraction / 21y (A)

109 - 219 - 35000 e



Roll No. Annual 2019

Mathemati Sci f 5

sl cs (Sclence Group) (f-’:mf II...-JkuF;}-E} (.‘..:/{;?i;) 'u"p
Group : I ZII ‘e,,(f'
Time: 2 : 10 Hours Subj jd il )

et i ubjective & é' 2: 10 Js

60 : /-,}J
-0 8 A _aynl utvrde et e Bri)ie : o)

Note :- Section | is compulsory. Attempt any three questions from Section IT but question number 9 Is compulsory.

Section |_Jil.z
2. Write short answers to any Six parts : (8x2=12) ’ifﬁwﬁrmﬁ(r—-df "
i. Define quadratic equation. _2{ i/ & s v 3
i. Solve by factorization ¥ -x-20=0 LSS gk i
iil. Discuss the nature of the roots of the quadratic - _ﬁ_yj{ru, GAL P +3x+S=0 a4l s i
equation X* +3x+5=0
iv. Evaluate (1—@+@%)* ] Sl-o+a™) _y
N F’“d'?.:—""# of the roots of -ﬂfrs"‘-:-étf;l?"'j}f Jundy £ X —4x+3=0oB.a fi Ly
equation x’ —4x+3=0.
vi. Prove that the sum of all the cube roots of unity is zero. bt o oK A ré L St i
vii. Define direct variation. A L $ e P i
viii. Find a mean proportional to 16 and 49. \ Fz‘ _é'(:"‘ B hs ¥ 4991 16 _vili
ix. Find X if 6:x::3:5 \f_\/J e x) w 6:x:3:5 i Lix
3. Write short answers to tnyfrlx_ clmru : ’?’Q&" ﬂ;}z =12) %Hk/’&lzw;l;f -3
i. Resolve into partial fractions i i r_"/} -
i X={L4.7,9} ana ¥Y={2.4,59} then 7 3\:‘ 7 a¥={2,459} , X= {1 4,7 9} ; N
find YU X %\M L YUX
iil. 1t (2a+5,3)=(7,5-4) then nqa\éﬁ and b ZEpp b nay x(2a+5,3)=(7,b-4) [ i
iv. 1f ¥={=2,1,2} then find twqﬁhﬁy relation for ¥ x ¥ _zZEpl win, §¢ 2 & YxY 3n Y={-2,1,2} S &
v. Define one - one function. AN WSS i v
vi. The salaries of five teachers are as follows . Find mean, ...5,-)" bl S G ;,.gu‘f 5% gk -vi
11500, 12400,15000,14500,14800
vil. Find the modal size (mode) of shoe for the S eesad IS gys 7 Stz § Uz s L Vil
given data 4. 4,5,6,8,6,7.,7,8,8,8,8,6,5,6,7,5
vill. Define Harmonic mean. 2w § bl LT AL il
ix. Define Mode. 2w/ § ek Lix
4 Write short answers to any six parts : (6x2=12) -&mbl&/’&lm{ay -4
I Find & when I=4.5m , r=2.5m Lgpr IS O
i. Prove that l_:ow-*- H:ma =2cosec’d SgE=r il
iil. Define acute angle. s i el il
iv. Define sector of a circle. WS e v
v. Define tangent to a circle. S v e
vi. Differentiate between a chord and the diameter of a circle. Te- IIYL ML s 35 L K Vi
vil. Define circum angle. - S v il
viil. Define vertices. & s J v il
ix. Define Triangle. S S akeix

(Turn over)



(>

Section - Il (1100
(UA ®) 2T Ldin ) e 9 AnfSsayrl cimbe§) o)

Note: Attempt any three questions. Each question carries Eight (8) marks but question number 9 is compulisory.
x+ 2 4 -X 1

5.(a) Solve by using quadratic formula. e = 2— S 1 L ki G 5 (a)-5
x* =49x% +36x+252=0 Y ,.1 uju ﬁu': NS} £7 &5 foraFs (b)
(b) Solve the given equation by using synthetic division having roots -2 and 6 x' —49x* +36x+252=0
Vx?+2 +4/x1 -2 - _
6.(a) Solve by using theorem ) _Jsz 5 FESenl S o S, L7 £ (a).6
of componendo - devidendo
Tx—25
(B) Resocive into partial fractions (x—4)(x-3) -ﬁu? L o7 Gz (B)
U={1,2,3,4,..,10} U={1,2,3,4,..,10}
A={1,3,5,7,9 A={1,3,5,7,9 h
7.(a) If { 1 t ) SEabe 0l Bul A, Uutr £ &) (a).T
B ={1,4,7,10} B ={1,4,7,10}
then verify that (4N B)' = A4'U B’ Q?\D* (ANB)Y =A'VE
(b) The length of 32 items are given below ?E'f CJ‘ bl af(‘r S 1 d;_d{f: JLJJu: A u"‘ (b)
;s‘:\ﬁ
Find the meah length of the distribution. <E:,,J
o>
c,.CI-::L__,
’E‘tgtj 2022 2335 V] 36-28 29-31 3234
Frequency 3 L6~ 12 9 2
U
(“'\‘::.j'

N)
-2
(a) 1f COSE=— 3 and teminal ZEpd SLUKE uF Gt Bes c‘u gy @ _,; . c080 =3 Jiars

arm of the angle @ is in quadrant I/ | find the values of remaining trignometric functions.
(b) Draw two perpendicular tangents to a circle of radius 3cm _c'fa‘r SV Ut 0 & o Lty s 3 (b)
Prove that : Perpendicular from the centre of a circle on ..r,_t‘f-.-i.:"" Lru’f T £ .F:o'/ = /';' L ety :2',{ =k .9
a chord bisects it.
OR k
N O T e g | SEILNS 3 Sy U St T L i ik
Prove that: the measure of a central angle of a minor arc of a circle, is double that of the angle subtended

by the corresponding majer arc.
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Paper : II Group: IT Objective ((5%5>) v/l IL: gy
Time : 20 Minutes Code : 7986 < 20 =
Mark:!: :,l:fl..f 136 ol s v ¥, < 220, £15 :/f)
i D A5 4 FACW) 1A g8 Iy T - 2Dl A ek L lyog ke
* N e Ot D S S Al e

Note:- You have four choices for each objeclive type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question. _

1 -1. The range of R ={(1)3)|(21 2)-(3;1), (4, 4)} is -{_I}.r! Range R7Y » R= {(1.3). (2,2),(3,1),(4, 4)} j'; 1.1

{1,2,3,4) ©) {1L3,4} (32,4} (g {1,2,4} &
2. Mean is affected by change in U .L/Q.-,F bl Qo -2
place & (D) origin 4l IG:' (C) ratio = (B) value =d A
3. lc038c45' = lt'x)sm::-‘-i»S" = -3
J3 1 1
> ©® 7 © Y2 @ 37 (&)

* 1 1 1 1 4
. -+ = -+ = -
l+sin@ 1-siné& 1+sin@ 1-siné

cos @ (D) sec’@ () 2cos’é@ (B) 2sec’d (A)
5. The symbol used for a triangle is _.q..ljn.-_)lr'-"* e ﬁ_’.l..l-“ =5
- (©) = (©) ¢ A5 ® < ()
6. Two tangents drawn to a circle from a point Sl = nMJ@bVZ .5;‘ e B0s & ik g
outside it are of in length. A\ ©
- < ’g‘x\-} |
tripple ¢ & (D) double &5 (C) I,;;{}_é.&ar £z (B) half - (A)
7. A pair of chords of a circle subtending two mngmnﬁ}’&}ﬁn LA s S ahd ol & 82y Jio o <7
central angles is ,}‘;\v
oy = : =
parallel ($s# (D) over Iappiaq(:\;fll 17 (C) incongruent Jia'-'/-_’ (B) congruent J‘ = (A)
8 Aline intersecting a circle is called \}- et BT S -8
secant 0 & (D) _cldiameter &  (C) chord 7 (B) tangent UV (A)
_-("*". \ o
® The quadratic formula is ) g - Urdi G L9
~b+/b? +4dac b+ Jb* +4ac b+ Jb* —4dac btk —4ac
= (D) *=TR¥5_  (C)*™ B) X =" —5_— (A
2a 2a 2a 2a
10. Sum of the cube roots of unity is -e;_.;rf Fosl s LYK <10
3 (D) -1 (<) 1 (B) 0 (A)
11. 1f @, 5 are the roots of 3x* +5x—2=0 car e @+ B Un Sl 3x +5x=2=02m Bia fi _14
then o + is
S 3 . |2 5
3 (D) 3 (C) 3 (B) 3 (A)
12. The fourth proportional W of X:V I Viw jg - W Buz LXIyn viw 12
vy d xy
. m o — B —
(D) - (€) v (B) u,, ) (A)
u v
i If:"';:k then 7 :zzz‘kﬁ <18
u = wk’ @  u=vik © u=wk (@ u=vk'
2x+1 2x+1 14
W GeDE-1) sefn . % ——f GIDG-D
improper fradtion 2 # (D) properfraction ~ 2 (C) identity =L’ (B) equation =i~ (A)
15. A set with no element is called - rurf-'x.;a: e e <15

empty sat <+ b (D) superset ~»- j (C) singleton set .:-;-Cf (B8) subset L Cf? (A)
110 - 219 - 25000 rirdr
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Mathematics (Sclence Group) ( (?Ju’lfr IT _*.-.agd.;j'-?) (.'-Ju""'l.-) S\
Paper: IT Group:II Iz : v”r ) IT : ¢
Time: 2 : 10 Hours Subjective ﬂ!l‘.‘il ) & 2:10 :_-3:
Marks : 60 60 : A

421 9 Ak ayalotmnde e Lonio o diiize

Note :- Section I Is compulsory. Attempt any three questiona from Section IT but question number @ ls compulsory.

Section I Jil o
2, Write short answers to any Six parts : (Bx2=12) :ﬁ';ﬁpw/"&lzquf -2
i. Solve by factorization. x=11x=152 S SF pas
il. Solve by using quadratic formula. 6x* =3-Tx=0 LS abla JE L vk G 2 -l

iii. If @B are the roots ,ﬁr}w‘;ﬁ;{ ﬁ; dun Al W Amx+n=0 (20 wuw-Ba S i
11

of the equation x*+mx+n=0 (/#0) then find the valueof —3z+ '5.‘:" .

g od Ly

iv. Evaluate o’ + o™ S

6x? —8x+3=0 b i 5} F el G v
e bahlre az,ﬂz Ur",,. }Uxujuﬁ ¥ =3x+6=0 i~ B.a Ji i

vi. If @, B are the roots of the equation x> —3x+6=0 form equation whose roots are &, 5’

PEN LS SUA i

N2

at-b*, a-b (\ ' S B L i

e u=12 .&gﬂv.JijmruéS ru=8a w e BV w4 S ix

v. Find the discriminant of

vii. Define inverse variation, A

Viil. Find a third proportional to

ix. If ¥ and V varies inverselyand u =8 when v=3 . rf\rp% when u =12
J
a Write short answers to any Six parts : \Q\ T (Bx2w=12) 'ﬁ;ﬂ}&;’&d?l{ny -3
s f’{y
i. Define proper fraction with example. < o) BTN S - Y | S
o X={1,4,7,9} , ¥ ={2,4,5,9} find R \?g:'r,t.»xfw o XUY ;Y ={2,4,59}, X={1,4,7,9} /i 8
. "\ f;

) g s S P S il
(a-4,0-2)=(2,1) ﬁﬁr;"‘;—-}J b » a -iv
e or § v L{a b} e

&y Skl Yo i

11500 , 12400 , 15000 , 14500 , 14800 & o> sty L& Vi

iil. Define sat with an axample.
iv. Finda and b if

v. Wirite all the subsets of the set {G.b}
vi. Define arithmetic mean.
vil. Find range from the given data

viil. Find Arithmetic mean 12,14 ,17,20.24, 29, 35,45 e b Yl - il
ix. Define Mode. e w7 Sk -ix
4  Write -3;:", answers to any six parts : (6x2=12) -ﬁmwﬂ-ﬁi’w:._}g -4
L Convert —== into degree. e LNS < -
ii. Verify the identity. tan €+ cot & = sec 6 cos ecd e £ L -l
iii. Define Acute angle. S S el i
iv. Define sector of a circle. 2SS KL v
v. Define chord of a circle. teisr Ve 2 Loits ov
vi. Define arc of circle. S SUF de it i
vii. Define diameter of circle. S B L a i
vii. Define inscribed circle. _ZE 7 G i il

ix. Define polygon. -2',.5.._2/’ $ tuew &L



am

(2)
Section - IT fr)ae

(UA (8) 2T Lip ) w4l 9 AIireffsavinlcimba 3 o)

“=Nole: Attempt any three quastions. Each question carries Eight (8) marks but question number 9 is compulsory.

S.(a) Solve the given equation by completing square 11x* -34x+3=0 _z';f.'._}'c}/f{.-.} F ST A (a)-5

a pg
bl :E’;u“}: ;U.nu’y L x1+px+q=0 .:-J':L-ﬂ & N (b)
a g

b) If a , [ are the roots of the equation X + px+q=0 form equation whose roots are E';

6(a) Solve the equation by using componendo dividendo theorem S e di £ oot S, S5 ke (@8

(x+5)° ~(x=3) _13 (x+5) —(x=3)’ _13
(x+5)° +(x-3) 14 (x+35)° +(x-3) 14
1
(b) Resolve into partial fractions (x-DI(x+1) W 2 Gz ()

Au(Br'\C)=(AuB)n(AuC)Iz§“r?C={1.4,8} o B={2,4,6,8}, A4={1,2,3,4,5,6} 5 (a-7

NG N
3 v 4 ={1,2,3,4,5,6},8 ={2,4,6,8} and C = {1,4,8} then prove tbgjé; p

-

-~ " ("/
AU(BAC)=(A4UB)N(4UC) ,}f-*f-i:%\.‘*
/"{:Sg\_‘:) <
‘\.i"I :\;'Q . - L
( b) Calculate variance for the data 10,8,9,7 :,(‘53\32/ 8.,6,8,2 e e T K S e (D)
r"r:\"/o

)
AT

8 '-f“\*‘.v)
) Find angle of elevation of the S}:@Wﬁ feet man -¢-233.5 L §0T Lo L .é?,.-"})*‘ 2 i W Cur

T
(\)"\/

(a)-8

casts a 3.5. feet shadow.
b Pt e R QPBE L et Ut ZOR PO ., il (b)
(b) Foran arc draw two perpendicular bisectors of tha chords Fé and —Q'E of this arc,
construct a circle through P .Q and R.
9. Prove that perpendicular from the centre of a circle on & &S e St 4 O e IAL o9y Lonrh -9
achord bisects it.
OR L
Prove that the opposite angles of any St il SN A O ..-.;fq; St § i " dard

quadrilateral inscribed in a circle are supplementary.

110 - 219 - 25000
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Mathematics  ( Science Group ) (Ul « II wubfsdf) (III) (..rs/u:“llr) s
Paper : II Group: I . /by I1: 2y
Time : 20 Mmutes Obijective (%) @ 200 =
Marks : QreL- Ci \-1e— 18 “code : 7985 15 AN
:/':...- u"l "aul-".'r..:b-'.j!wc-...'.?...-f;:Lu-'JulJéé.;r_'.lrﬂ.uirf/ RIS ..J'Efé_l D 1224, b 'vs g
_f:r;r‘j._.-u”u AL,t-a.!‘g,fL-;@;H{hL)}JUSIUHhL-f'

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fillthat circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question.

1 1. Point(-1,4) liesin the quadrant. -t 2l (1,4) 5
Iv & Uz (D) IIT Ei4 (C) I G (B) I Lo (A
2 i A4< B thenA-B isequalto etz A-B In A € B 4
B-A (D) ¢ (C) B B A (A)

2x+1 2x+1
3 (el e = -1
identity =L (D) proper fraction ~_='s (C) equation .='s.- (B) improper fraction ,/.,.-z-n,_' (A)
a4 I uoxcy then o uxv? i
v =1 (D) uv' =k () n= kv’ (B) w=v (A)
5. Ina continued proportion -‘Lr'.‘:':-,-—"\?- caeb » afLab=bic _g ,,1—-

ath=b:c ¢ issaidtobe proportionaltoa and b. < .

fifth ur.zf L (D) means ks (C) fourth @C@Jb third 1< (A)
6. Sumof the cube roots of unity is © st ¥l J6

3 (D) -1 (C) @i\{} 0 (A)

7 Roots of the equation 4y —~5v+2=0 are \% o & 4_1': =5x4+2=0 on-
natural (L3 (D) rational maginary (<4 (B) irrational Fté (A)

8. The linear factors of

s L » Lx*-15x+56

[.\'+T}cm% (B) (x—=T)and (x+8) (A)

(x+ '-"(lq ‘+8 (D) (x=T)and (x -8) (€)

9 Angle inscribed in a semi cifcle is S P ;,-"’Lir}l: i
z % z it "

5 (D) 5 (C) 1 (B) 3 (A)

10. The portion of a circle between two radii and Lt o JIL g okt
an arc is called -q_ru-:" « gdian

radius % (D) cherd  (C) segment 5 (B) sector A& (A)

11 Anarc subtends a central angle of 40" .t s §2 60 3 L0 o 40" S b IL
then the corresponding chord will subtend a central angle of

RO (D) 60 (C) 20° (8) 40 (A)

12. Locus of all points in a plane equidistant from a -.g._ﬂi;—fg;r{'ﬁﬁ.cu;,ﬁ el O 1 -V

fixed point is called

circle e (D) diameter ¥ (C) circumference : (B) radius v (A)

13 Acircle has only one - okl I e F
centre  *, (D) diameter & (C)  chord 7 (B) secant &F 5 (A)

14 Cosec’0-Cor*0 =2 v = Cosec’@-Cot’0
1 (D) Tant (C) 0 (B) - (A)

15 The spread or scatterness of observations in a data set is called - Fle 3% b la il f

range = (D) central tendency .;;l_.-f';d:{/ (C) dispersion A5 (B) average ko (A)

-1 .1

-2

B

4

-5

-6

T

-8

-9

-10

-1

-12

-13

14

=15
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Paper: IT - II : 34
Group : I Steb Cf [~ lo- IR I : .fs/
Time: 2 : 10 Hours Subjective (e ) & 2:10
Marks : 60 60: A

- 8 AInf . Boprl pmbe $le Lpmio - Sitize 1 29
Note :- Section | is compulsory. Attempt any three questions from Section IT but question number 9 is compulsory.

Section | ;Jilﬁ‘

2. Write short answers to any Six parts : (6x2=12) :é(/{:#lﬂlﬂﬁplzl{c—ijf -2
i Define reciprocal equation. EAlens v B
ii. Solve by faclorization. Sx? =15x - 4 J;f- 2ok il
i. Define symmetric function. AP i
iv. Evaluate 9+4w+4e ) Eped v

v It @ f aretherootsofthe .2Z-wod (a’x 7 jurn £ 4 =5x+6=0 =i f.a fi

equation 4x" ~5x+6=0 thenfind the value of @ x ﬁl

vi. Find the discriminant of the following quadratic equation .gl.'iﬁi-".ﬁﬁ) oo Jﬁd«_}_’}b;: Vi
457 ~-Tx=2=0 4x* -Tx-2=0

vii. Define inverse proportion _{5..3;‘75.;:5‘ 2 i

viii. Find the third proportional to (x=y)?, x¥=y L G2 il

X. if Z%FX and 2=36 when X=2 y=3 _zl. -z ;,,.1?—361\%2\'__-. z=36 ,y 2CX S _ix

then find 2z O
3. Write short answers to any Six parts : ’%{‘@@i\z ) -ﬁm}lﬁﬁ"'&olz!{;&f -3

-

i Whatis proper fraction, ?f-f:ir-‘rf/;«!'# -

i. Resolve ﬁ into partial fraction. O@\:S e G2 o rl_r] il

? - o - s i
-.é:frf-' sl SLxM j . M=13.4} , L={a,b.c} /i _iv
n find two binary relationsof [ xM

it Define One - One function.

v, I L-—'{u,h,t] s M=

v. Finda andb if (a-4 ., b-2)= (2. 1) ﬁ Ef.-:,'r“b A4 a v
vi 1 4=11,2,3,4,5,6}, B={2,4,6,R} ¥ B={2,4,6.HE A A={1,2,3,4,5.6) S _vi
prove that ANB=BNA ANB=BNA f@-:f.i‘?

vii. What is cumulative frequency? opl s g il
viil. The salaries of five teachers in rupees are given belaw; Sl 2 -.,!i.;u)gg’!i‘iﬂi' l.-lé.kuf Ji - il
find range: 11500, 12400, 15000 . 14500, 14800 Lo
ix. Find arithmetic mean by direct method 12,14,17,20,24,29,35.45 L bk Vel B i

4 Write short answers to any six parts : (6x2=12) ﬂéhklffﬂﬁ-l?lga-ly -4
i. Convert 135" into radian . NP I0T fl35 -
it. Define Degree. -a{—ﬂfl.; LF i
fii. prove that Mﬂ-tan 7 SE o i

cos
iv. Define Right angle. A A
v. Define interior of a circle. Pl B v
vi. What is meant by length of tangent? ?‘L:LrL_.—"-..Ji,-'Q',' vl
vii. Define circumference of a circle, _:{_ﬁ‘-—..i_',;&f.::-._ vl
viii. Define central angle. _.'_é'_g]'l(,:l: Sip i
ix. Define radius _ﬁ_g; g e <ix

(Turn over)



(2)
Section - Il A=
( IJ..I/; ®) #7 Ldirz ) -9 ,dU!rL'}-? émklﬂé@ﬂlmf:.ésr e

Note: Attempt any three questions. Each question carries Eight (8) marks but question number 9 is compulsory.

5.(a) Solve the given equation by using quadratic formula Skl +8x+1=0 .S afst-ﬁ&rdia-uufﬁﬂﬁdn » (a)-5
(b) prove that

7 b
v 2 =3wpz=(x+y+z)x+oy+@'z)(x+ o’y +wz) S
6.(a) Using componendo - dividendo theorem, solve the equation 2 F she JL e J i e (a)-6

(x-2)"-(x-4)" 12 (x-2) -(x-4) _12
(x-27 +(x—4) 13 (x-2)* +(x—4)" 13

1
—_— oL W2 gz ()
(x=1(x+1) 'é‘fﬁﬂ o iz

(b) Resolve into partial fractions
(ANBY =AU B 7 a7 U={1,2,3,4,5.6,7,8,9, 10} Ja\l\{ﬁ 3.5,7.9}, B={2,3.57} /i @)-7

o U=112,3,4,5,6,7,8,9,10},4={1,3,5,7.9}, B {%isj; then prove that (4 B)' = 4"l" B’
{{L\J

On o o
(b) Calculate variance for the data Kﬂ-ﬂ& 75.12,86.8.2 S o B o ke (b)
r\
~
8. (a) Prove that qt ;ﬁaﬂ’ + cot 9)((;035-1-5]11?)—-5609 +cosect SEek (a)-8
Q>
(b) Draw two common tangents to two -E' u.f/-"‘ S MO 3.5 » " 25 Sl i/ S (b)

7.(a)

toucring circles of radii 2.5 cmand 3.5 cm.
9. Prove that a straight line drawn from the —eutrss’ Zakdabl vl s (e 2 }}su/ el Sk 29
centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.

OR

Lol

Prove that the opposite angles of any quadrilateral B A VI ) £ r!J.J:LE—'»ia,ngsfer.:..?bJﬂ’ e

inscribed in a circle are suppiementary.

109 - 218 - 32000
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Mathematics ( Science Group) ( ﬁ:u’lf « IT -.tabdzi’-f} (III) (-ruyL) Ul
Paper : IT Group : IT Objective (&%) U S
Time : 20 Minutes ., o In. Code : 7986 L4 200 =
Marks : 15 SwL-G2- fo-13 15 L AF

“E e P ISIL N2 J.';_,';."ln‘fé_hi’.b-.'.’.gfr,fg ¥z _-éé.: s C, B, Ak 2L s s
' ! Ertur® '.,F:z.,:ﬂ{,c-.,-w LSSk S mmtie L
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question,

1. 1 Power set of an empty set is ety a6 orde _q_4

o .l © {a} () /oW

2. Anhistogram is a set of adjascent Loe ok 5 ¢ 2
triangles E’u?*:' (D) circles €7 (C) squares KU, (B) rectangles sus (A)

3020 =__ — =20 -3
36007 (D) 1200/ © 630/ ® 360 (A)

4. The distance of any point of the circle to its centre is called - rikles € F }frﬁl K& df Lo sy -4
anarc 7 ' (D) achord » .1 (C) diameter A (B) radius T (A)

5  Acicle has only one NP L S (I 7 7 T (G
secant (Fi (D) chord 7 (C) diameter M (B) centre Jr (A)

6. A 4cm long chord subtends @ - sr......€ Ul Kb o tlusli € 60° 4 r 5 wJJ:,J F4gl .6

central angle of 60" The radius of this cirgill A

f D\
4 (D) / o 2 i 1 (A)
£ s, B (O . :
7. The measure of external angle &t a requihexadon is S\ O ddd i Qaal v LI 2T
T -, LoX M T
= (431/ : AC) N (8) ~ (A)
2 » . -~ : @ 3 4
8 Howmanyta_nger@n X rawntrom apointo/y "/,Ihe circle? -yEélgﬁ.JVic_BT AL sy B
s (o _ i
a % BB 3 2 (8) 1 (A)
‘/-I ‘--. c/ " i
9. Acolledkon fin‘é&ﬂih‘tinctnb' ‘called -;wa;,fnylfh -9

union set ..-_vk.f /[m s%?u == () powersel = sl (B) subset --:'Cf? (A)

10. If  weev’ therl Q{:}\& Fuecy? S 210
uv’ =1 (D) u=kv* () uv' =k (B) u=v*: (A)
x+2 Al | x+2
11. Partial fraction of (x+Dx? +2) are of the form w:’i.,:-'fL.(('J ¥ e J’ZJ—uH‘uf.r: +2) =11
A N Bx+c¢ Ax+ B g C A 4 Bx A n B
x+l 42 O x4 + 2 © YAa.¥52 ® i fe2 W
12. Roots of the equation 4x* -5x+2=0 are .,,-,,;.'J.u L 4x —5:"+ 2=0 on- .12
equal .. (D) rational 't (C) imaginary J:'" ,—: (B) irrational g i:,cf (A)
13 Find X inthe proportion 4:x::5:15 e x L4:x5:05 213
3 4 75
12 (D) 4 (C) 3 (B) 3 (A)
14,  The quadratic formula is - Urii ds » 14
b++\b* -—4ac ~-b+ b -4ac
Xme— B e (A)
2a ®) 2a
b+~b +4ac -b++b* +4ac
e D . T (C)
2a (D) 2a
15, If @, arethe roots of escaf s £ T -x+4=0 =u- @.fB S _15
Tx'~x+4=0 then af s
4+ 5 7 4 -1 .
7 (D) 3 (C) 5 (B) E (A)

110- 218 - 20000 WRW
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Mathematics  (Science Group) ( (&gﬂ.l? 5 5 ..‘.uw;.f;?) (.r;jp""l.-) u:'LJ
Paper: IT Group:IT ) (I : ..‘..:f ) IT : ¢
Time: 2 : 10 Hours Subjective (e & 2:10 125
Marks : 60 SW‘- 'quh’-!ﬂ 60: A4S
-=ie f‘UlrU? -ﬂ'awﬂuﬂrpfa.dfﬁ.gﬂm e liie :of
Note :- SectionIis compulsory. Attempt any three questions from Section IT but question number 8 is compulsory.
Section | Jil.o
2. Write short answers to any Six parts : (6x2=12) :eﬁ})t—.yx/*ﬁ.rzqadf -2
i. Define reciprocal equation. -?i-:'...yf J..-..!:L»Jﬁ‘ -
i. Solve by factorization X =1lx=152 ZES df::’z; i
iii. Find the discriminant of the equation 2x° —7x+1=0 k3¢ 2X - Tx4+1=0 bl -iii
iv. Evaluate (9+4w+40"y *ér;”éf -iv
2l 2 2 =0 B, a j
v. Iifa.p are the roots of the -!-.ji}:’*’.:.g‘JE aq Tonun & X Fpx+q=0_ . f,a g ,
3 a f
equation ¥ *PX+§=0 yon avatiate E r e
vi. Write the quadratic equation having roots -2. 3 . -Ur =2, zgr’:;‘iu-’?{f,.-.-'sl.‘-;ﬁ,: 1 Vi
vii. Find ¥ in the given proportion 8-x:11-x:16-x:25-x S I x Lt Lz i
: 1
. TR B w Ay
YO Aoc —and A=2 when r=3,Find r when A=72 @ g
i Ao .
. Find a mean proportional between 20 o Q@% -’—ff P B b Lix
Vs ﬁh 5 z
3. Write short answers to any Six parts : L =12) :i{k}[ﬁ/"ﬁd'ﬂ{;&/ 23
i. Define proper fraction. ./(; --;‘-'g ...gff/...au -
/"I'\\ l
i Resolve ;{:i into partial fraction. GC{' -gt)ﬁb’ Lo Gazd ';2T1 -l
iii. Define one - one function. ¢ -za_gf /JJJ&' Wi - i il
. If X: {1-41 ?:9] and }"?’r’{\%ﬁi\t I’ -é’r}“ }'nj" ; » Y=[2s 4-539} il X={L4) ?sg} .J"I’r -iv
QP it X={14.7.9} and ¥={2,4,5.9} then fing YN.X
v. If if—‘={0,2.4} - B={—],3} then find Ax B t _.":::Iﬁ,-'ﬂ-'AKB },.;B=[-*[.3} ;.‘1‘—'[{1‘,2,4} ,J’; Y
- XxY={(a,a), (b,a)(e,a),(d,a)} fizglppr ¥ 4 x S Wi
vi. Findthe sets X and Y it XxY={(a,q).(b,a),(c.q),(d, a)}
vil. Define Median. - AL i
vili. - Find arithmetic mean of the following data by direct method P o Bt & 34 4 b - vii
12 , 14, 17.20,24 ,29,35 45 12 , 14, 17.20,24 29,35 45
-'_ér‘#h;'q_}b”;.ugﬂ'r‘ J1 -ufuff IOV RT) ZJ_f"' :3‘,!:;5;&4&_._}:‘%’5}.1-11 -ix
ix. The marks obtained by seven students in mathematics are as follews, Calculate arithmetic mean,.
wfusrl 1 2 3 4 5 8 7
No. of Students
st P 45 60 74 58 65 63 | 49
Marks obtained .
4 Write short answers to any six parts : (6x2=12) -z’,::.;twﬂ&.lzqa.df -4
i. What is quadrental angle? Ceslpbe o 8 i
. Sin'o i
" Prove that Cosg T €050 =Secd S

| ,© ] .
fi. Find " when /=4 oy 9=§r”dmn Fi=a O=Zeths Bloir T i



(2)

v Define obtuse angie. g «-F;'-r--é’i&r 2 2% iy
SWL-Gy -10-) _
v. What is circumcircie? Sedlp e st 2 v
vi. Define tangent of circle. HE vl i
vii. What is segment of a circle? Seslr Ve o ih & _yii
vii. What is cyclic quadrilateral? esip o i A viii
ix. Define In-circle. ,’.;_‘f:—._.gfurp,"h o~ _ix
Section - I (1
(A @) 4T L) -cdive AInFEseel it §f o
Note: Attempt any three questions. Each question carries Eight (8) marks but question number 9 is compulsory.
5.(a) Solve the quadratic equation by using quadratic formula. ~G FUrs6a sngad Seiis Bs (a)-5
2+49x =5y’ 2+9x=5x°
o . T ..: — 5 s s . .l - -
(B) Solve the simultaneous equation X' w2y=22 5 Sx 4y =29 “EL S Ui m (b)
(x+5)" —(x- 3 13 s rhs 1 e a)_6
6.(a) Solve by theorem of componendo - dividendo — — =S ra A e 2 (a)
(x+5) +(x —3) 1
; . x+4 o
(b) Resolve into partial fraction. 1 <j> _g‘i',.. Sz (b)

7.(a)

(b)

8.(a)

(b)

(Bx+2)x+1) @Q
(4 -BY =A'UB JEG4 e B={1,47,10) ¢ :(5@\] 3579} ,U={1,2,3,4,5,..10} / (a)-7

W U={,2,3.4,5,..10} 4= {1,3,5, 7@@%4 7,10} then verify that (A-BY =AU B

~\©

Calculate " variance" for the given da 8.9.3,5,1256.6,8.2 g F e L, (b)

= '\‘ »
Verify the identity J.SELH 1 cel + |

= — _é.:.-;t‘ jetir (a)-8
Sec)— | Fano
Draw two common tangents to two ..«‘-.‘Er’.,-'...:‘;f‘ 2 it WBAEBE L 25 e Ll nl f;., 2 (b)
touching circles of radii 2.5 ¢cm and 3.5 cm
¥ A 5 - i = " . -

Prove that two chords of a circle which are ~SenJE A ki T 20 0 Loy J St =

equidistant from the centre, are congruent,
OR L
-c_'_t':fi'ff:.-a.e.ﬂ} ;:"'i;,::ﬁfjw\_i!h:,f&:su‘j}_} !“!'d._-.:'_-l,ﬁ.id ;_,f;u:.'-'_ﬁhd{r‘é-:a?

Prove that the measure of a central angle of a minor arc of a circle is double that of the angle subtended by

the corresponding major arc.
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